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Question Number : 1 Question Id : 61547510901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the learning outcomes are intended 1n teaching organized at understanding level?

(1) Longer recall and retention of facts
(2) Seeking of relationships and patterns among facts
(3) Creative construction and critical interpretation of 1deas

(4) Mastery of facts and information

Options:
61547542501, 1
61547542502 2



E1547542503. 3
61547542504, 4

Question Number : 1 Question Id : 61547510901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547542501, 1
61547542502 2
61547542503 =
61547542504 4

Question Number : 2 Question Id : 61547510902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements differentiate teaching from learming?

(a) Teaching 1s a social act while learning 1s a personal act

() Teaching implies learning

(c) Teaching 1s like selling while learning 12 ike buving

(d) Teaching can occur without learning taking place

(e) In teaching. influence i1s directed towards learning and learner, while in learning 1t 1s

usually towards oneself

Choose the correct answer from the following options :

(1) {a). (c) and (e) (2)  (a). (b)and (c)
(3) (b). (¢) and (d) (4) (e).(d) and (e)
Options:

61547542505, 1
61547542508, 2
E1547542507. 3
E1547542508. 4

Question Number : 2 Question Id : 61547510902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542505, 1
61547542508, 2
E1547542507. 3
E1547542508. 4

Question Number : 3 Question Id : 61547510903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are classroom related factors that influence effectiveness of teaching?

(a) Prior task related behaviour of students

(b) Adherence to linear pattern of communication by the teacher
(c) Socio-economic status of the family to which learners belong
(d) Inappropriate use of technological resources by the teacher

(e) Cultural background of students

Choose your answer from the following options :

(1) (a). (b) and (c)
(2) (b). (c¢) and (d)
(3) (a). (b) and (d)
(4) (c). (d) and (e)
Options:
154754250591
1547542510 2

61547542511, 3
E1547542512. 4

Question Number : 3 Question Id : 61547510903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(1) (a). (b) T (c)
(2)  (h). (c) 3T (d)
(3) (a). (b) 3 (d)

(4) (c). (d) 3T (e)

Options:

61547542509, 1
61547542510 2
61547542511, 5
61547542512 4

Question Number : 4 Question Id : 61547510904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following types of learning materials, the presentations are highly structured
and individualised?

(1) Textbooks prescribed by the universities

(2) Journals and the articles recommended for readings

(3) Writings of great thinkers selected for reflective readings

(4) Programmed instructional and modular learning material

Options:

615475425131
61547542514 2
61547542515, 5
61547542516 4

Question Number : 4 Question |d : 61547510904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

615475425121
61547542514 2
61547542515 3
61547542516 4

Question Number : 5 Question Id : 61547510905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following types of assessment 1s conducted periodically with an eve on

standards?

(1) Formative assessment (2) Summative assessment

(3) Portfolio assessment (4) Performance assessment
Options:

61547542517, 1
61547542518, 2
E1547542518. 3
E1547542520. 4

Question Number : 5 Question Id : 61547510905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542517, 1
61547542518 2
1547542519 2
E1547542520. 4

Question Number : 6 Question Id : 61547510906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

A university teacher plans to improve the study habits of students in his/her class. Which
type of research paradigm will be helpful in this regard?

(1) Evaluative research paradigm (2) Fundamental research paradigm
(3 Applied research paradigm (4) Action research paradigm
Options:

61547542521, 1
E1547542522. 2
E1547542523. 3
B1547542524. 4

Question Number : 6 Question Id : 61547510906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547542521. 1
B1547542522 2
61547542523, 3
61547542524, 4

Question Number : 7 Question Id : 61547510907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A researcher intends to make use of ICT 1n his/her research. What considerations should
welgh most 1n such a decision?

(a) Appropriateness of the tool used
(b) Cost 1nvolved 1n procuring it
(c) Availability of tools in the department where research 1s to be undertaken

(d) Willingness of his/her supervisor to offer help
(e) The company from which the ICT equipment has been procured

Choose vour answer from the following options :

(1) (a). (b) and (c) (2) (c). (d) and (e)
(3) (a). (c) and (d) (4) (b). (c) and (e)
Options:

615475425251
61547542526, 2
61547542527, 3
61547542528, 4



Question Number : 7 Question Id : 61547510907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547542525. 1
B1547542526. 2
B1547542527. 3
61547542528, 4

Question Number : 8 Question Id : 61547510908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sampling procedures will be appropriate for conducting researches

with empirico-inductive research paradigm?
(1) Simple random sampling procedure
(2) Systematic sampling procedure

(3) Stratified sampling procedure

(4) Any of the non-probability sampling procedures

Options:

61547542529, 1
61547542520 2
E1547542521. 2
61547542522 4

Question Number : 8 Question Id : 61547510908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475425291
61547542530, 2
61547542531 3
61547542532 4

Question Number : 9 Question Id : 61547510909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following formats ‘Chapter Scheme’ of the document has to be formally

approved by a research degree committee 1n the university?

(1) Thesis/dissertation (2) Seminar papers
(3) Research articles (4) Research monographs
Options:

BE1547542533. 1
B1547542534. 2
61547542535, 3
61547542536, 4

Question Number : 9 Question Id : 61547510909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E1547542533. 1
E1547542534. 2
51547542535, 3
61547542536, 4



Question Number : 10 Question Id : 61547510910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A research scholar while submitting hiz/her thesis. did not acknowledge in the preface the
help and support of the respondents of guestionnaires used. This will be called an instance of

(1) Technical lapse (2)  Wilful neghgence
(3) Unethical act (4) Lack of respect
Options:

B1547542537. 1
B1547542538. 2
61547542539, 3
61547542540, 4

Question Number : 10 Question Id : 61547510910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547542537, 1
615475425358, 2
E1547542539. 3
E1547542540. 4

Question Number : 11 Question Id : 61547510911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When there 1= an animated discussion between a teacher and his or her students in the
classroom. 1t can be classified as :

(1) Horizontal communication (2) Mechanical communication
(3) Linear communication (4) Categorical communication
Options:

61547542541, 1
E1547542542. 2
E1547542543. 3
B1547542544. 4

Question Number : 11 Question Id : 61547510911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547542541, 1
61547542542 2
61547542543, 3
E1547542544. 4

Question Number : 12 Question Id : 61547510912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Information overload 1n a classroom evmironment by a teacher will lead to

(1) High level participation (2) Semantic precision
(3) Effective impression (4) Delayed feedback
Options:

61547542545, 1
E154754254E. 2
B1547542547. 3
51547542548, 4

Question Number : 12 Question Id : 61547510912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547542545 1
61547542546, 2
61547542547, 3
615475425458, 4

Question Number : 13 Question Id : 61547510913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A verbal communication technique used in teaching 1s

(1) Slow expression of words
(2) Varving the speed of voice and tone
(3 Presentation without pause

(4) Resorting to semantic jugglery
Options:
1547542549 1
£1547542550 2
E1547542551. 2
G1547542552 4

Question Number : 13 Question Id : 61547510913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547542548. 1
E1547542550. 2
51547542551, 3
61547542552, 4

Question Number : 14 Question Id : 61547510914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following modes of communication can be employed 1n a classroom for effective
teaching?
(a) Top-down

(b) Iconic
(c) Associational
(d) Dissociational

(e) Svmbolic
(f) Abstract

Choose the most appropriate option from the following :

(1) (a). (b) and () (2) (c). (e)and (D)
(3) (b). () and (e) (4) (a). (c) and (d)
Options:

61547542552 1
E1547542554. 2
E1547542555. 3
61547542556, 4



Question Number : 14 Question Id : 61547510914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547542553. 1
61547542554, 2
61547542555, 3
61547542556, 4

Question Number : 15 Question Id : 61547510915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two Statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Assertion (A): Use of slang 1n formal teaching makes commumication lively and
Interesting.

Reasons (R) : Academic decency demands the avoidance of slang in the classroom
environment.

In the light of the above statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false

(4) (A) 1= false. but (R) 1s true



Options:

61547542557, 1
£1547542558 2
£1547542559 =2
61547542560, 4

Question Number : 15 Question Id : 61547510915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542557, 1
£1547542558 2
£1547542559 =2
61547542560, 4

Question Number : 16 Question Id : 61547510916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a certain coding language. "AEIOU 1s wnitten as TNHDZ. Using the same coding
language, ‘BFJPV will be written as

() UOIEA (2) AEIOU
(3) CGKQW (4) WQKGC
Options:

E1547542561. 1
61547542562, 2
61547542563, 3
61547542564, 4

Question Number : 16 Question Id : 61547510916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

T F2 9T # AEIOU &1 “TNHDZ' % =1 ® fomgn smar 2| 35t F2 9o &1 v =2 BFJPV =1 f5m

=7 H foman s ?

(1) UOIEA (2) AEIOU
(3) CGEKQW (4) WQKGC
Options:

61547542561, 1
61547542562, 2
61547542563, 3
61547542564, 4

Question Number : 17 Question Id : 61547510917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If 3% of (a+b) = 7% of (ab)

and 5% of (a—b) = 4% of (ab),

then what percentage of b 1s a?

47, 23

@ o 9) 2o
Do o3 @ g
@ 2100, @ 2390,
23 47
Options:

E1547542565. 1
E1547542566. 2
B1547542567. 3
61547542568, 4

Question Number : 17 Question Id : 61547510917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547542565. 1
B1547542566. 2
B1547542567. 3
61547542568, 4

Question Number : 18 Question Id : 61547510918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of a number and its inverse 1s —4. The sum of their cubes 1s :

(1) 52 (2) 52
(3) 64 (4) —-64
Options:

61547542565, 1
61547542570, 2
61547542571, 3
E1547542572. 4

Question Number : 18 Question Id : 61547510918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) —52 (2) o2
(3) 64 (4) 64
Options:

61547542569, 1
61547542570, 2
E1547542571. 3
B1547542572. 4

Question Number : 19 Question Id : 61547510919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A certain principal invested at compound 1nterest payvable yvearly amounts to Rs. 10816.00 1n
3 yvears and Rs. 11248.64 in 4 years. What 1s the rate of interest?

I 3% 2 4%
(3) 4.5% (4) 5.5%
Options:

615475425731
61547542574, 2
61547542575 3
E1547542576. 4

Question Number : 19 Question Id : 61547510919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=
i

N ST i A= AME 2| FE UET 3 99 H 101816 $99 K 4 9
T 11248.64 599 7 HH 2| o547 2 F] B 7

= — [ e
T TR S lg ST T T

(1) 3% (%) 4%
(3) 4.5% (4) 5.5%
Options:

61547542573 1
61547542574, 2
E1547542575. 3
B1547542576. 4

Question Number : 20 Question Id : 61547510920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the exact equivalent discount of three successive discounts of 10%, 15% and 20% by
sale of an article?

(1) 35.8% (2) 38.5%
(3  35.5% (4) 38.8%
Options:

B1547542577. 1
61547542578, 2
61547542579, 3
61547542580, 4

Question Number : 20 Question Id : 61547510920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt =g <t Toht o 10%, 15% 3R 20% =i o Iwead! @2 i T8 auged 92 ot ari ?

(1) 35.8% (2)  38.5%
(3) 35.5% (4) 38.8%
Options:

E1547542577. 1
B1547542578. 2
B1547542579. 3
61547542580, 4

Question Number : 21 Question Id : 61547510921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following hetwabhasa (fallacy) 1s involved 1n the argument, “Sound i1s
element because it 1s cauzed”™?

(1) Viruddha or contradictory middle
(2) Satpratipaksa or inferentially contradicted middle

(3) Sﬁdh}'asama or the unproved middle

(4) Badhita or non-1nferentially contradicted middle
Options:
615475425511
61547542582 2
61547542553 3
E15475425584. 4

Question Number : 21 Question Id : 61547510921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542581, 1
61547542582, 2
61547542582, 3
E1547542584. 4

Question Number : 22 Question Id : 61547510922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following argument :

Statements : Some chairs are curtains.
All curtains are bedsheets.

Conclusion : Some chairs are bedsheets.

What 1s the Mood of the above proposition?

(1) IAT (2) IAA
(3) ITA (4) AII
Options:

61547542585, 1
61547542586, 2
E1547542587. 3
E1547542588. 4

Question Number : 22 Question Id : 61547510922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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F FI FEAT 03 B

[, el o =" B
Y] 93 == =

- . ~ L
IUAITR deh—dTF R T=HAE F11 & ¢

(1) IAT (2) TIAA
(3) ITA (4) AII
Options:

61547542585, 1
61547542586, 2
E1547542587. 3
E1547542588. 4

Question Number : 23 Question Id : 61547510923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s converse of ‘Some S 1s P*?

(1) Some S 1s not P (2) SomePisnotS
(3) Some P1s S (4) NoPisS
Options:

61547542589, 1
61547542530, 2



E15475425391. 3
B1547542582. 4

Question Number : 23 Question Id : 61547510923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F3 S, P 7 - THE Uadm Fefeiigd 9 o A1 27

(1) F8S8.P= (2) FBP.STH 3
Options:

E1547542589. 1
615475425390, 2
615475425381, 3
615475425392, 4

Question Number : 24 Question Id : 61547510924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following fallacious hetu (middle term) is not uniformly concomitant with
the major term?

(1) Asatpratipaksa (2) Auvatireka
(3 Anyonya-Asiddha (4) Suyabhicara
Options:

61547542592 1
E15475425394. 2
51547542595, 3
61547542556, 4

Question Number : 24 Question Id : 61547510924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fefatad B o S 3999 #d H@159 U5 % OO =9 T T T8 8 7

(1)  =1=q ufaws (2) oA

(3) =1 | oz (4) T
Options:

E15475425593. 1
61547542554, 2
61547542585 3
615475425396, 4

Question Number : 25 Question Id : 61547510925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to classical Indian school of logic. what 1s the correct sequence of steps involved 1n
Anumana (influence)?

(1) Upana}-'a.PratijI;a. Hetu, Udaharana . Nigmana
(2) Prat.ij;la. Hetu. Upanaya. Udaharana , Nigmana
(3) Pratij;m . Upanaya. Hetu, Udaharana . Nigmana
(4) Pratijgla . Hetu. Udaharana . Upanaya, Nigmana

Options:

61547542597, 1
61547542598 2
61547542599 2
E1547542800. 4

Question Number : 25 Question Id : 61547510925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

. ~ r = -, e - - - - e P S
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(1) T, TTHeT, E'T-[ Z2TE0T, e (2) wfaa, Tﬁ 30, IR, A
(3) ofesr, 397, 74, e, Fma (4) wfamm, =4, sgww, I,
Options:

615475425397, 1
E15475425958. 2
B1547542599. 3
615475426800, 4

Sub-Section Number: 2
Sub-Section 1d: 615475472
Question Shuffling Allowed : Yes

Question Id : 61547510926 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



The following table gives the percentage of marks obtained by 6 students in 5 different
subjects 1n an examination. The numbers in the parenthesis give the maximum marks In
each subject. Answer the given gquestions based on the table :

Subject (Max. Marks) Percentage (%) of marks obtained

Name of - : : :

staderk Maths | Chemistry | Physics Biology English
(150) (130) (120) (100) (100)

Anlkat a0 a0 80 60 70

Amar 100 60 70 40 80

Sanva a0 60 85 80 G0

Rahul S0 fits) G5 a0 a0

Puneet S0 80 70 85 50

Pooja 70 i) 50 80 40

Sub questions

Question Number : 26 Question Id : 61547510927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the overall percentage of marks obtained by Amar?

(1) 70% 2y 72%
(3) 60% (4) 58.33%

Options:
61547542601,

E1547542802,
E1547542603.
B1547542604,

[ N

Question Number : 27 Question Id : 61547510928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the aggregate of marks obtained by Sanyva in all the five subjects?

(1) 375 (Z2) 395
(3) 455 (4) 475

Options:
61547542805,

E1547542808,
E1547542607.
51547542808,

[ N S

Question Number : 28 Question Id : 61547510929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1s the average marks obtained by all the six students i1n Chemstry?

(1) 86.66 (2) 76.66
(3) 66.66 (4) 60.00
Options:

51547542609, 1
61547542610, 2
61547542611, 3
6154754261%2. 4

Question Number : 29 Question Id : 61547510930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students obtained 60% and above marks 1n all the subjects?

(1) Three (2) Two
(3) One (4) Zero
Options:

E1547542613. 1
E1547542614. 2
51547542615, 3
615475426816, 4

Question Number : 30 Question Id : 61547510931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which subject the performance of the students is worst 1n terms of percentage of marks?

(1) Chemistry (2) Physics
(3) Biology (4) Enghsh
Options:

B1547542617. 1
615475426818, 2
61547542619, 3
61547542620, 4

Question Id : 61547510926 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension
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faw= ITH ST =i aiaerdr (%)
(ATeRan 37F)

=79 F 91 TTfor A gitgh | SE-fawE | s
(150) (130) (120) (100) (100)

A 00 50 80 60 70

IR 100 60 70 40 80

= 00 60 85 80 60

TEd 80 75 65 90 90

g 80 80 70 85 50

LEL 70 75 50 80 40

Sub questions

Question Number : 26 Question Id : 61547510927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FTHL AT OTH 31 i e afaeraer fRa 27

(1) 70% (2) 72%
(3) 60% (4) 58.33%
Options:

61547542601,
1547542602,

E1547542603.
515475426804,

[ N

Question Number : 27 Question Id : 61547510928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt o= fawat 8 == = TR g A R R

(1)

L |

Lad
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(2)

had

(3) 453
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(4) 4
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Options:

1547542605,
51547542606,
61547542607,
61547542608,

e LI M



Question Number : 28 Question Id : 61547510929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T TagH 3 g S S0 B HAEd UTH 9SS B T

(1) 86.66 (2) 76.66
(3) H6.66 {4y 60.00
Options:

E154754260%8. 1
E1547542610. 2
61547542611, 3
61547542617, 4

Question Number : 29 Question Id : 61547510930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

-

weft famei o e 9l 7 60% 1 39 FAfu ¥ T Eu R Y

P -

(1) dH (2) =1
(3) = (4) =
Options:

61547542612 1
E1547542614. 2
E1547542615. 3
B15475426816. 4

Question Number : 30 Question Id : 61547510931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S i ufeeraar =1 3fe ® fHE fav 4 aEi # o ges wue wE

(1) A e (2) HiEw-TaE
(3) = EEE (4) ==
Options:

61547542617, 1
61547542618, 2
E154754Z2618. 3
E1547542620. 4

Sub-Section Number: 3
Sub-Section 1d: 615475473
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 61547510932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following tasks 1s associated with changing appearance of a document in
word processing?

(1) Editing (2) Formatting
(3) Writing (4) Printing
Options:

61547542621, 1
E1547542622. 2
E1547542623. 3
B15475426824. 4

Question Number : 31 Question Id : 61547510932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fefeifiad e 8 § :E-31 5 92 TEET | SiegEs F =EY d 95| § 191 2 7

(1) = (ofsfen) @ W
Gy i (i) 4) T (Fafem)
Options:

E1547542621. 1
B1547542622. 2
B1547542623. 3
615475426824, 4

Question Number : 32 Question Id : 61547510933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term one gigabyte refers to :

(1) 1024 petabytes (2) 1024 megabytes
(3) 1024 kilobytes (4) 1024 bytes
Options:

E1547542625. 1
B15475426826. 2
B1547542827. 3
61547542628, 4

Question Number : 32 Question Id : 61547510933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) 1024 TZrEEg (2) 1024 TTETES
(3) 1024 FreraEEH (4) 1024 =mEem
Options:

61547542625 1
E1547542626. 2
E1547542627. 3
B15475426828. 4

Question Number : 33 Question Id : 61547510934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

15 a wireless technology built in electronic gadgets for transferring data over
short distance

(1) WiF1 (2) Bluetooth
(3) Modem (4) USB
Options:

E1547542629. 1
E1547542630. 2
61547542631, 3
61547542632, 4

Question Number : 33 Question Id : 61547510934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U A TR B A 3 G SeT o 2 % fon s 39 | i wen #

1) 9B wE (2) w=Ea
(3) Hi=H (4) Fums]
Options:

61547542629 1
61547542630, 2
E1547542631. 3
E1547542632. 4

Question Number : 34 Question Id : 61547510935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PCI stands for

(1) Partial Component Interconnect (2) Partial Component Interaction
(3) Peripheral Component Interconnect (4) Peripheral Component Interaction
Options:

615475426352, 1
E1547542634. 2
E1547542635. 3
51547542636, 4

Question Number : 34 Question Id : 61547510935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U1 H 377E RO 9199 =9 7

(1)  wIETg= FUHE S22 (2) TIEES FIHE S2EH

(3) T M2 S22 (4) UTHEE FIHT SIEEE
Options:

615475426352, 1
E1547542634. 2
E1547542635. 3
51547542636, 4

Question Number : 35 Question Id : 61547510936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The national agency for responding to computer security incidents as and when they occur.
18

(1) CAT (2) CDAC
(3) CCA (4) ICERT
Options:

BE1547542637. 1
61547542638, 2
61547542639, 3
61547542640, 4

Question Number : 35 Question Id : 61547510936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U T 2 H gl g O meEtad 92l o ST it 7 o

(1) o T A (2) WHud
(3) Hrdrw (4) M= =i = 3F 7
Options:

E1547542637. 1
E1547542638. 2
61547542639, 3
61547542640, 4

Question Number : 36 Question Id : 61547510937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify from the options given below. the co-benefit of Montreal Protocol

(1) Impetus to development of energy efficient systems
(2) Reduction in carbon dioxide (equivalent) emissions
(3) Convergence of efforts of international community in addressing air pollution
(4) Control of transboundary movement of hazardous waste
Options:

E1547542641. 1
B1547547642 2
615475426843, 3
61547542644, 4

Question Number : 36 Question Id : 61547510937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TIeATTeRT e al § © Hif-29 TIerhe & He-o19 i T=iad w5
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(4)  EIETR AUEE % HE % 9 e W

Options:
61547542641, 1
61547542642 2



E1547542643. 3
B1547542644. 4

Question Number : 37 Question Id : 61547510938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under Green India Miszion. how manv hectares of degraded forest land 1s to be brought

under afforestation?

(1) 02 million hectares (2) 06 million hectares
(3) 08 million hectares (4) 20 million hectares
Options:

E1547542645. 1
61547547646, 2
615475426847, 3
61547542648, 4

Question Number : 37 Question Id : 61547510938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) 02 fafe=m z7em (2) 06 Taferam sem
(3) 08 TaferEa s#em (4) 20 Mol s%em
Options:

61547542645 1
61547542646, 2
E1547542647. 3
E1547542648. 4

Question Number : 38 Question Id : 61547510939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The themes of some Sustainable Development Goals are

(a) Chmate action

(h) Sustainable cities and communities

(c) Peace. justice and strong institutions

(d) Skill development and decent emplovment
(e) Green agriculture

(f) Reszponsible consumption and production

Choose the most appropriate from those given below :

(1) (a). (b). (c). (e) and (f)
(2) (h). (c). (e) and ()
(3) (b). (c). {d). (e) and (D
(4) (a). (b). (¢) and ()

Options:

61547542849 1
61547542650, 2
61547542651, 5
61547542652 4

Question Number : 38 Question Id : 61547510939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FIqUT TaRvE faFm Fa & 9 E -
(a)  FerEg

(b)  HURYA TR ¥R ggEE

(c)  Nid, =T 3R G55 TEIH

(d) =i T @A 3 FEeE

(e)  Efa FW

(f) Tt wua 3 3aEr

3 r i
HEH 3I0gF Tdhed & T34 HE

(1)  (a). (b). (c). (e) 3T (P
(2) tbLtthelaﬂ?Lﬂ
(3) (b (c). (d). (e) 3 (P

(4) (). (b). (c) FHIT (f)
Options:
51547542649, 1
61547542650, 2
61547542651, 3
61547542652, 4

Question Number : 39 Question Id : 61547510940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The most dominant source of Benzene emissions in ambient air is

(1) Cement industry (2) Cigarettes
(3) Car exhausts (4) Paints and varnish
Options:

E1547542653. 1
E1547542654. 2
51547542655, 3
615475426856, 4

Question Number : 39 Question Id : 61547510940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SATEaTE (TiEstt) Fi 7 4 s6E 3cae H GdigE TgE 1 6

(1)  Hw= z=am 2 Tome
3) W Fadw (4) Uz 3 T
Options:

61547542653, 1
61547542654, 2
61547542655, 3
E154754Z656. 4

Question Number : 40 Question Id : 61547510941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The most important pollutants that cause degradation of water quality 1n rmvers and streams
are
(a) Bacteria
(b) Nutrients
(c) Metals
(d) Total dissolved solids
(e) Algae

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) (2) (a), (b) and (d)
(3) (a). (b). (d) and (e) (4) (a). (b). (c), (d) and (e)
Options:

E1547542657. 1
E1547542658. 2
615475426859, 3
61547542660, 4

Question Number : 40 Question Id : 61547510941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  =E

b)  TEF A

(c) HTd

d) T HE U IE

(e) I
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1) (a). (b) 3 (¢) (2 (a). (b) 3T (d)
(3 (a). ®). (d) I (e (4) (a), (b). (c), (d) =71 (e)
Options:

B1547542657. 1
615475426858, 2
61547542659, 3
61547542660, 4

Question Number : 41 Question Id : 61547510942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Databazse WOS stands for

(1) Web of Science (2) Web of Sources
(3) World of Science (4) Web of Service
Options:

61547542661, 1
61547542662, 2
61547542663, 3
E154754Z664. 4

Question Number : 41 Question Id : 61547510942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5ld i-5_-1. H .E_r"if"“:! -S:H ey T"'-.'

(1) =9 =7 =99 (2) =9 3% "G

(3)  =FE ¥ATF TTH (4) F= 7 TlEg
Options:

61547542661, 1
E154754Z2662. 2
61547542662, 3
E1547542664. 4



Question Number : 42 Question Id : 61547510943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The major barriers for access to higher education 1n India are :

(a) more opportunities of emplovment for less educated
(b) government policies

(c) language of instruction

(d) economic status

(e) competition from forelgn universities

() gender discrimination 1n soclety

Choose the correct answer from the options given below :

(1) {a). (b) and (c) (2)y (b). {c) and (e)
(3) (c). (d) and (D (4) (d). (e) and ()
Options:

61547542665, 1
E154754266E. 2
E154754Z667. 3
61547542868, 4

Question Number : 42 Question Id : 61547510943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qE w3 e o At | g A E o
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(b)  HCRRI it
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(1) (a). (b) #T (c) (2 (b, (c) I (o)
3) (o). (d) 37 (D 4)  (d). (e) #7 (D
Options:

E154754Z2665. 1
61547542666, 2
E1547542667. 3
B154754Z668. 4

Question Number : 43 Question Id : 61547510944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

According to GATS (General Agreement on Trade and Services). higher education should be

a commodity in the

(1) domestic public sector (2) domestic private sector
(3) non-trading sector (4) global marketplace
Options:

61547542665, 1
61547542670, 2
61547542671, 3
E1547542672. 4

Question Number : 43 Question Id : 61547510944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U A TH (SR SR HEs TeE " THEan) F AgEn 3= e s e stee wm =

(1) e 5od &9 @ s
(B e o (4) Afvas FroE ==
Options:

E1547542669. 1
B1547542670. 2
61547542671, 3
61547542672, 4

Question Number : 44 Question Id : 61547510945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements 1s true in the Indian context?

(1) Autonomous colleges can grant degrees independent of umversities
(2) Autonomous colleges can grant only bachelor’s degree independent of universities

(3) Except doctoral degrees. all other degrees and diplomas can be granted by

autonomous colleges

(4) Whatever may be the degree or diploma. autonomous colleges can grant them under

theilr own name but under the seal of an affiliated university

Options:
61547542673, 1
61547542674 2

61547542675, 3



E1547542676. 4

Question Number : 44 Question Id : 61547510945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547542673 1

E1547542674. 2
E1547542675. 3
B154754Z676. 4

Question Number : 45 Question Id : 61547510946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Rashtriva Uchhatar Shiksha Abhivan (RUSA) aims to achieve the following in Higher

Education System :

(a) Equity
(b) Access
(c) 50% GER

(d) Excellence

Choose the correct option from those given below :

(1) (a), (b) and (c)
(2) (a). (c) and (d)
(3) (a). (b) and (d)
(4) (b). (c) and (d)

Options:
B1547542677. 1

E154754267E. 2
E1547542673. 3
51547542680, 4



Question Number : 45 Question Id : 61547510946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4 (). (c) ¥ (d)
Options:
C1E47FE42ETF 1
L1E47EAZETR. 2

B1547542675. 3
61547542680, 4

Sub-Section Number: 4
Sub-Section 1d: 615475474
Question Shuffling Allowed : Yes

Question Id : 61547510947 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label - Comprehension



Read the passage carefully and answer questions that follow :

There 1s no doubt that the market as a realitv and political economy as a theory plaved an
mmportant role 1n the liberal crtique. But liberalism i1z neither the consequence nor the
development of these: rather. the market played. in the hiberal eritique. the role of a “test”, a
locus of privileged experience where one can identify the effects of excessive governmentality
and even welgh their significance: the analvsis of the mechamsms of “dearth” or more
generally. of the grain trade 1n the middle of the eighteenth century. was meant to show the
point at which goverming was always governing too much. Therefore. an anlaysis to make
visible. in the form of evidence. the formation of the value and circulation of wealth—or, on
the contrary. an analysis pre-supposing the intrinsic invisibility of the connection between
individual profit-seeking and the growth of collective wealth—economaes, 1n any case. shows a
basic ncompatibility between the optimal development of the economic process and
maximisation of government procedures. It 1z by this. more than the play of ideas. the
French or English economists broke away from mercantilism and commercialism: they freed
reflection on economic practice from the hegemony of the “reason of state” and from the
saturation of governmental intervention. By using it as a measure of “governing too much”,
thev placed 1t at the limit of governmental action. Liberalism does not derive from jurdical
thought any more than it does from an economic analysis. It 1s not the 1dea of a political
soclety. but the result of search for a liberal technology of government.

Sub questions

Question Number : 46 Question Id : 61547510948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following plaved a role in the liberal eritique?

(1) Liberalism as a consequence of market forces
(2) Liberalism as an offshoot of political economy
(3) Reality of market
(4) Political economy as a practice

Options:

51547542681, 1
61547542682, 2
61547542682, 3
E1547542684. 4

Question Number : 47 Question Id : 61547510949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The liberal critique examined the 1implications of

(1) market expansion (2) too much governance

(3) growth of polhitical economy (4) politics of marketisation

Options:



E1547542685. 1
615475426886, 2
B15475426887. 3
61547542688, 4

Question Number : 48 Question Id : 61547510950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What kind of evidence was needed to make the liberal critique visible?

(1) Circulation of wealth (2) Pre-supposing individual profit
(3) Dearth 1n supply of grain (4) Incompatibility of growth
Options:

E1547542689. 1
615475426350, 2
615475426831, 3
61547542632, 4

Question Number : 49 Question Id : 61547510951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

What 13 incompatible with optimal economic development?

(1) Plav of 1deas

(2) Absence of commercialism

(3) Political society

(4) Excessive government procedures
Options:

E15475426593. 1
6154754268594, 2
615475426385, 3
61547542636, 4

Question Number : 50 Question Id : 61547510952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The passage 1s indicative of the author's preference to

(1) economic hegemony of individuals
(2) Iimit government control of economics
(3) seek hberalism from jurdical thought

(4) promote individual profits

Options:



B15475426597. 1
615475426388, 2
61547542655, 3
61547542700, 4

Question Id : 61547510947 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 61547510948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SEFATE] T | fAefetad § ° e gire w8

(1) =TSR % TROEEEY 3ERATE (2) TEHATTGF AT qHOTHEEY IEREE
(3) =R = Il (4) =HEEN F B H UEHIOE ATSTEAT
Options:

61547542681, 1
61547542682, 2
E154754Z683. 3
E1547542684. 4

Question Number : 47 Question Id : 61547510949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ST =T TN (2) Freataw TmEA
(3)  TEAIaE AY=EEEyT 1 A (4) ETARTER # T
Options:

61547542685, 1
61547542686, 2
E1547542687. 3
E154754Z2688. 4

Question Number : 48 Question Id : 61547510950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SETETEl TATT 1 56 &9 54 % 70 | TR o WA i SEeeEar o 7

(1) & = af=ed (2) =ATHT AT F GEAAN
(3) e i g § FAE (4) T = wHe B
Options:

E1547542659. 1
E1547542630. 2
E15475426391. 3
B15475426592. 4

Question Number : 49 Question Id : 61547510951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

=g AN Ta™ + 29 o Fifshd § 9 ®H-9897 2 7

(1) o ® =

(2) SO = A9

(3)  TSHIGF FHEHE

(4) AT TR FETG
Options:

E15475426593. 1
6154754268594, 2
615475426385, 3
61547542636, 4

Question Number : 50 Question Id : 61547510952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542697, 1
61547542698 2
61547542699, 5
61547542700, 4

PART 11 Crirrinology

Section Id : 615475146

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section |1 d: 615475475
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 61547510953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following 1= the author of “Crime 1= a Normal Phenomenon™?

(1) Edwin H. Sutherland (2) Cesare Bececaria
(3) Thorsten Sellin {(4) Emile Durkheim
Options:

E1547542701. 1
B1547542702. 2
61547542703, 3
61547542704, 4

Question Number : 51 Question Id : 61547510953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542701, 1
E1547542702. 2
E1547542703. 3
61547542704, 4

Question Number : 52 Question Id : 61547510954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following criminal justice agency 1s liable to pay reasonable expenses to
the witness for attending the court proceedings?

(1) Court (2) Prosecution
(3) Defense lawyer (4) Prison authorities
Options:

E1547542705. 1
61547542706, 2
61547542707, 3
61547542708, 4

Question Number : 52 Question Id : 61547510954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
afefan o § w5 3wy =E e AT FE9E ¥ uien 3R % o 19w S a9ii=w " agH
1 & o sTeET 27

(1)  —FEeE (2)
(3)  Tauei = (4) <o AT
Options:

515475427051
61547542706, 2
61547542707, 3
61547542708, 4

Question Number : 53 Question Id : 61547510955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following tried to determine whether there 1= any relationship between

antisocial conduct and physiological characteristics?

(1) Howard Becker (2) Albert Cohen
(3) Hooton (4) Paul Tappan
Options:

61547542709, 1
61547542710, 2
61547542711, 3
61547542712, 4

Question Number : 53 Question Id : 61547510955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Trafefan 4 @ fFed =9z ghfvan 0 &1 vow T & smmfes s w9 o e & o=
e GEU 27
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Options:

61547542709, 1
E1547542710. 2
E1547542711. 3
B154754271%2. 4

Question Number : 54 Question Id : 61547510956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The three phases — ‘Law 13 sexist’, ‘Law 1s male’, and ‘Law 1s gendered’ — are reflected in —

(1) Cultural eriminology (2) Feminist criminology
(3) Translational eriminology (4) Green criminology
Options:

615475427131
61547542714, 2
61547542715 3
E1547542716. 4

Question Number : 54 Question Id : 61547510956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E1547542713. 1
61547542714, 2
61547542715 3
61547542716, 4

Question Number : 55 Question Id : 61547510957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The First Information Report (FIR) filed under Section 154 of the CrPC i1z a :

(1) Substantive piece of evidence (2) Not a substantive piece of evidence
(3) An important forensic evidence (4) A heresy evidence
Options:

B1547542717. 1
61547542718, 2
61547542719 3
61547542720, 4

Question Number : 55 Question Id : 61547510957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547542717. 1
E1547542718. 2
61547542715 3
61547542720, 4

Question Number : 56 Question Id : 61547510958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following research tyvpes is appropriate to study the extent of drug abuse

among college students?

(1) Explanatory (2) Exploratory
(3) Descriptive (4) Comparative
Options:

BE1547542721. 1
B1547542722. 2
B1547542723. 3
61547542724, 4

Question Number : 56 Question Id : 61547510958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

BE1547542721. 1
B1547542722. 2
B1547542723. 3
61547542724, 4

Question Number : 57 Question Id : 61547510959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one among the following punishments is not currently prescibed under Section 53 of

the IPC?

(1) Death (2) Imprisonment for life
(3) Transportation (4) Fine
Options:

615475427251
B1547542726. 2
G1547542727. 3
61547542728, 4

Question Number : 57 Question Id : 61547510959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475427251
E1547542726. 2
B1547542727. 3
B1547542728. 4

Question Number : 58 Question Id : 61547510960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following formulated ‘Thermic law’ of delinquency?

(1) George Vold (2) Stephen Schafer
(3) Sue Titus Reid (4) Adolf Quetlet



Options:

61547542729, 1
615475427320 2
E15475427321. 2
61547542732 4

Question Number : 58 Question Id : 61547510960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475427291
61547542730, 2
E1547542731. 3
B1547542732. 4

Question Number : 59 Question Id : 61547510961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which category of crime victims 1z eligible for compensation from District Legal Services
Authority?

(1) Where offender 1= unidentified (2)  Where offender 1= untraceable
(3) Where the accused 1s acquitted (4) In all three g1ven cases
Options:

B1547542733. 1
61547542734, 2
61547542735 3
615475427356, 4

Question Number : 59 Question Id : 61547510961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) ST ST i U A O 2 B s e e i
Options:

E1547542733. 1
E1547542734. 2
61547542735 3
61547542736, 4



Question Number : 60 Question Id : 61547510962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following is the author of the book, “Criminal Behaviour System : A
Typology™?

(1) Leon and Wolfgang (2) Herbert and Gilbert
(3) Clinard and Quinney (4) Emile Durkheim
Options:

61547542737, 1
E1547542738. 2
E1547542739. 3
61547542740, 4

Question Number : 60 Question Id : 61547510962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ffeifign 8 9 T et fiwen « v zraraisT w0 &1 oas b 27

(1)  fogm wa Tew (2) wEe ug fiead
(3) faowrE g ol (4) vUHSE gETHA
Options:

61547542737, 1
61547542738, 2
E1547542739. 3
E1547542740. 4

Question Number : 61 Question Id : 61547510963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which one among the following justice systems, the judge acts as a referee between the
prosecution and the defense?

(1) Inquisitorial (2) Adversarial
(3) Socialist (4) Islamic
Options:

B1547542741. 1
G154754274%2 2
61547542743 3
61547542744, 4

Question Number : 61 Question Id : 61547510963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547542741. 1
G154754274%2 2
61547542743 3
61547542744, 4

Question Number : 62 Question Id : 61547510964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following authors has claimed that there 13 more ‘Weak-mindedness’ in the
prizon population than in the general population?

(1) Walter C. Reckless (2) Thorsten Sellin
(3) Charles Goring (4) Cyril Burt
Options:

615475427451
61547542746, 2
61547542747, 3
E1547542748. 4

Question Number : 62 Question Id : 61547510964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(o Tisfesa’) w1fa gt 27
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Options:

615475427451
61547542746, 2
61547542747, 3
E1547542748. 4

Question Number : 63 Question Id : 61547510965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which criminological theory postulates that law 1s a tool of the ruling class and criminal law

1s a device used by the ruling class to preserve the existing order?

(1) Biological theory (2) Ecological theory
(3) Neo-classical theory (4) Conflict theory
Options:

B15475427459. 1
61547542750, 2
61547542751, 3
61547542752, 4

Question Number : 63 Question Id : 61547510965 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154754274591
61547542750, 2
E1547542751. 3
B1547542752. 4

Question Number : 64 Question Id : 61547510966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
An important ingradient of fair procedure for a prisoner. seeking liberation through court

process 1s —

(1) Quality investigation by the police
(2) Unlimited mulakat (meeting with family members)
(3) Legal aid and access to copy of judgement

(4) Pre-release preparation by the prison authorities
Options:

15475427551

1547542754 2

1547542755 3

1547542756, 4



Question Number : 64 Question Id : 61547510966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547542753, 1
61547542754 2
61547542755 2
E1547542756. 4

Question Number : 65 Question Id : 61547510967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An empirical enquiry that investigates a contemporary phenomenon within its real-life
conext, when the boundaries between the phenomenon and the context are not clearly
evident, and in which multiple sources of evidence are used, 1s known as :

(1) Mixed method (2) Case study method
(3) Analytical method (4) Interview method
Options:

B1547542757. 1
61547542758, 2
61547542759, 3
61547542760, 4

Question Number : 65 Question Id : 61547510967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547542757, 1
E1547542758. 2



E1547542759. 3
61547542760, 4

Question Number : 66 Question Id : 61547510968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The UN Standard Minimum Rules for the treatment of prisoners are now known as

(1) Tokyo Rules (2) Beiying Rules
(3) Mandela Rules (4) Havana Rules
Options:

E1547542761. 1
B1547542762. 2
61547542763, 3
61547542764, 4

Question Number : 66 Question Id : 61547510968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547542761. 1
B1547542762. 2
61547542763, 3
61547542764, 4

Question Number : 67 Question Id : 61547510969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A programme and services organised for the rehabilitation of mnmates released from
correctional institution are known as :

(1) Parole (2) After-care
(3) Probation (4) Community service
Options:

61547542765, 1
61547542766, 2
E1547542767. 3
B1547542768. 4

Question Number : 67 Question Id : 61547510969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547542765. 1
B1547542766. 2
61547542767, 3
61547542768, 4

Question Number : 68 Question Id : 61547510970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one among the following 1s not provided in the UN Declaration on the Basic
Principles of Justice for Viectims of Crime and Abuse of Power, 19857

(1) Access to justice and fair treatment  (2) Assistance
(3) Compensation (4) Vietimisation survey
Options:

615475427659 1
61547542770, 2
61547542771, 3
E1547542772. 4

Question Number : 68 Question Id : 61547510970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
aTe-difsd 3k wfe & e © w9faq =@ % geyd g | .. 9o, 1985 9 fFfatea § 9
H 91 95w 44 27

(1) = 7% 59 3R ggfm =EEn (2) @
(3)  afoyfd (4) IedreT wagm
Options:

615475427659 1
61547542770, 2
61547542771, 3
E1547542772. 4

Question Number : 69 Question Id : 61547510971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following has postulated the concept of egolstic suicide?
(1) Emile Durkheim (2) Sigmund Freud

(3) Edwin Sutherland (4) Robert Merton

Options:



B1547542773. 1
B1547542774. 2
61547542775 3
61547542776, 4

Question Number : 69 Question Id : 61547510971 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFeafeifgd § & fees sgsHa steoge &7 g%ega &1 giagries R ?

(1)  ©HES gEH ) foms wEs
(3)  UsfeH getelve (4) TE? T
Options:

E1547542773. 1
B1547542774. 2
B1547542775. 3
61547542776, 4

Question Number : 70 Question Id : 61547510972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Among the following processes, what does Criminology include within its scope?

(1) Process of making laws (2) Process of breaking laws
(3) Process of reacting to breaking of laws (4) All the three processes
Options:

615475427771
61547542778, 2
615475427739, 3
E1547542780. 4

Question Number : 70 Question Id : 61547510972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T=ATeAlgd IRl 5 S T A0 A9 9 -9 HHIE Al 2

(1) FT T F T (2) A TS I A
(3) A AT =i TiAEAT = A (4) =t 47 ufFEe
Options:

E1547542777. 1
B1547542778. 2
B15475427759. 3
61547542780, 4

Question Number : 71 Question Id : 61547510973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who has postulated the concept of ‘Born Criminal™?

(1) Beccaria (2) Darwin
(3) Garofelo (4) Lombroso
Options:

E1547542781. 1
B1547542782. 2
61547542783, 3
61547542754, 4

Question Number : 71 Question Id : 61547510973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ST ATRET F e e gfqariea 7

(1) =i ) =
(3)  TRIhe @) e
Options:

E1547542781. 1
B1547542782. 2
61547542783, 3
61547542754, 4

Question Number : 72 Question Id : 61547510974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following opined that the environmental rather than the personal factors
predominate in the causation of crime and delinquency in the delinquency areas?

(1) Edwin H. Sutherland (2) Jeffery, C.R.
(3) Crifford Shaw and Henry McKay (4) Wolfgang. M.E
Options:

61547542785, 1
61547542786, 2
E1547542787. 3
E1547542788. 4

Question Number : 72 Question Id : 61547510974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ffcifiga o @ fras 9 2 & 3r=m &30 °, WY U9 39ER % FRw °§ GRS & a9l
e FRE SAE HEca gl aid @ ¢

(1)  uefas =, geeve (2) S0 . 3R
(3) fTeawe w3tk 3= g% (4) dreHiT, TH.E.



Options:

61547542785, 1
61547542736 2
E1547542787. 2
61547542788, 4

Question Number : 73 Question Id : 61547510975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following stated that “Witnesses are the eyes and ears of justice™?

(1) Cesare Beccaria (2) dJeremy Bentham
(3) Charles Goring (4) Cesare Lombroso
Options:

61547542759, 1
E1547542730. 2
E15475427391. 3
B1547542732. 4

Question Number : 73 Question Id : 61547510975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) e S=iien @) <Rt Fom
(3) =™ ifm 4) e S
Options:

61547542759, 1
E1547542730. 2
E15475427391. 3
B15475427392. 4

Question Number : 74 Question Id : 61547510976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which statistical measure shows that the distmbution in a statistical seres 1s significant?

(1) Mean deviation (2) Rank correlation
(3) Chi-square (4) Quartiles
Options:

615475427392 1
E1547542734. 2
61547542735 3
61547542736, 4

Question Number : 74 Question Id : 61547510976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) ey fa=eH (2) = Gg-Tay
(3) & THARA (4) Tatesa
Options:

B1547542793. 1
61547542754 2
61547542735 3
61547542736, 4

Question Number : 75 Question Id : 61547510977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A form of eriminal justice where the major emphasis of court proceedings 1s on repairing the
damages caused by a criminal on the victim of crime 13 known as :

(1) Social justice (2) Retributive justice
(3) Restorative justice (4) Economic justice
Options:

615475427571
615475427358, 2
61547542739, 3
E1547542800. 4

Question Number : 75 Question Id : 61547510977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FTRIGF =T & UF ¥4 &, 981 A FEaR & TgE SR A0 gRI A9y 9ifsd Hi 93 9 JHEH
T WIS FE T 2, §6 ©F S SR

(1)  gmifes =E (2) gfgwr ==
(3) TS =E (4) amiEs ==
Options:

61547542737, 1
615475427358, 2
E15475427399. 3
E1547542800. 4

Question Number : 76 Question Id : 61547510978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Prizon Statistics 2016, which among the following States has reported highest
number of foreign undertrial prisoners lodged in its jails?

(1) Uttar Pradesh (2) Madhya Pradesh
(3) Bihar (4) West Bengal
Options:



E1547542801. 1
61547542802, 2
61547542803, 3
61547542804, 4

Question Number : 76 Question Id : 61547510978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
foom =fefeeaw 2016 & 3gEr, Fefafar @ ¥ e o7 &1 Sion o fooft e sfeat 6 waifes

e 27

1) S e (2) T= 9eW
3 f=Er (4) dfv=m =
Options:

E1547542801. 1
E1547542802. 2
51547542803, 3
51547542804, 4

Question Number : 77 Question Id : 61547510979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
How many members does a Child Welfare Commattee have?

(1) Three members (2) Five members
(3) S1x members (4) Seven members
Options:

51547542805, 1
61547542806, 2
61547542807, 3
61547542808, 4

Question Number : 77 Question Id : 61547510979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) o de= (2) UHE EEH
(3) B (4) 4G9 9=
Options:

51547542805, 1
61547542806, 2
61547542807, 3
61547542808, 4

Question Number : 78 Question Id : 61547510980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
What child right has been specified UN 1n the Convention on the Rights of the Child?

(1) Right to survival and protection (2) Right to development
(3) Right to participation (4) All the above
Options:

61547542805, 1
61547542810, 2
61547542811, =
E1547542812. 4

Question Number : 78 Question Id : 61547510980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 3T <fifear v g F71 afemn (2) To=mE &7 AR
(3)  wEWIRIaT & 3TfewR (4) I Tt
Options:

615475425809, 1
E1547542810. 2
E1547542811. 3
B154754281%2. 4

Question Number : 79 Question Id : 61547510981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Among the following. Which country, regularly conducts crime victimization surveys?

(1) Brazil (2)  United States of America
(3) Japan (4) Italy
Options:

615475425813 1
61547542814, 2
E1547542815. 3
E1547542816. 4

Question Number : 79 Question Id : 61547510981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1)  Fwi (2) @ TS ARH
(3)  ST9H (4) s

Options:



E1547542813. 1
61547542814, 2
61547542815, 3
61547542816, 4

Question Number : 80 Question Id : 61547510982 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Among the following. which one 1s an economic offence?

(1) Pick-Pocketing (2) Robbery
(3) Embezzlement (4) Money Laundering
Options:

51547542817, 1
61547542818, 2
61547542819, 3
E1547542820. 4

Question Number : 80 Question Id : 61547510982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fraferfas § st v i sy 27

(1)  Sgwadl @)

(3) e (4) GIEEa
Options:

E1547542817. 1
61547542818, 2
61547542815, 3
61547542820, 4

Question Number : 81 Question Id : 61547510983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Under which law 1s crime victim allowed participation in the processing of a criminal case 1n
court?

(1) Section 11 Cr.P.C. (2) Section 266C Cr.P.C.
(3) Section 413 Cr.P.C. (4) Section 453 Cr.P.C.
Options:

E1547542821. 1
E1547542822. 2
B1547542823. 3
61547542824, 4

Question Number : 81 Question Id : 61547510983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
g g & At 17 diigd ® =EeE 8 Saids g S 9 § 9nier] & o sgefd § s
a7

(1)  eve giswar gfgar 9w 11 (2) s yiwar afzqr anT 265 i
(3)  ©ve uismar gfgar anT 412 (4) <©us Wiwhar gigar 9nT 453
Options:

E1547542821. 1
B1547542822. 2
61547542823, 3
61547542824, 4

Question Number : 82 Question Id : 61547510984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the following. in which country jury assists the court to decide innocence or guilt of
the accused?

(1) Afghanistan (2) Iran
(3) United Arab Emirate (4) United States of America
Options:

61547542825 1
61547542826, 2
61547542827, 3
E1547542828. 4

Question Number : 82 Question Id : 61547510984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  3rHTHEEH @) =
(3) Eg® o374 IHA (4) TTH TT AT
Options:

61547542825 1
E1547542826. 2
E1547542827. 3
61547542828, 4

Question Number : 83 Question Id : 61547510985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which principle has Cesare Beccaria propounded to explain criminal behaviour?

(1) Atavism (2) Depravity
(3) Hedonism (4) Inhertance



Options:

61547542529, 1
615475428320 2
E1547542821. =2
61547542832, 4

Question Number : 83 Question Id : 61547510985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) e (2) GUHIRa
(3) Hqgdiq (4) ITUEER
Options:

B1547542829. 1
61547542820, 2
61547542821, 3
61547542832, 4

Question Number : 84 Question Id : 61547510986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who articulated that persons who commit crime make a ‘rational choice’ for doing s0?

(1) Braithwaite (2) Cornish and Clarke
(3) Hirscha (4) Lemert
Options:

B1547542833. 1
61547542824, 2
61547542835 3
615475428356, 4

Question Number : 84 Question Id : 61547510986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  seEmse (2) iy U2 FeE
(3) fa=h 4) wme
Options:

61547542833, 1
E1547542834. 2
E1547542835. 3
B1547542836. 4



Question Number : 85 Question Id : 61547510987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What offence do four persons commit if they raid a ration—shop. threaten the shop-keeper
and decamp with two bags of wheat?

(1) Theft (2) Extortion
(3) Dacoity (4) Robbery
Options:

61547542837, 1
61547542838, 2
61547542839, 3
E1547542840. 4

Question Number : 85 Question Id : 61547510987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
IR =T % |1 ATY Fd 2 9fg 3 TF T9E I §HH T 961 T 2, GHEGR &I guF 3 I AL F 3
T & T 9F A 27

(1) = (2) T
(3)  Sadl (4) £
Options:

E1547542837. 1
E1547542838. 2
B1547542839. 3
61547542840, 4

Question Number : 86 Question Id : 61547510988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which statistical measure among the following indicates that items in a statistical series are

heterogeneous?

(1) Correlation (2) Geometric mean
(3) Regression (4) Standard deviation
Options:

61547542841, 1
61547542842, 2
E1547542843. 3
E1547542844. 4

Question Number : 86 Question Id : 61547510988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1) HE-F=d ) s are
(3)  whmA @) T feer
Options:

E1547542841. 1
E1547542842. 2
E1547542843. 3
B1547542844. 4

Question Number : 87 Question Id : 61547510989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 13 the main objective of pumishment in a democratic society?

(1) Retribution (2) Ostracism
(3) Reformation (4) Revenge
Options:

E1547542845. 1
61547542846, 2
61547542847, 3
61547542848, 4

Question Number : 87 Question Id : 61547510989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  wfosmy (2) TR
(3)  gER (4) =gl
Options:

61547542845 1
61547542846, 2
61547542847, 3
E15475428458. 4

Question Number : 88 Question Id : 61547510990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to prison statistics — 2016, which state among the following has the highest

number of central jails?

(1) Uttar Pradesh (2) Madhya Pradesh

(3) Tamil Nadu (4) Rajasthan
Options:



E15475428459. 1
61547542850, 2
61547542851, 3
61547542852, 4

Question Number : 88 Question Id : 61547510990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) SR 9™ (2) T W
(3) afuemTg @) TRIH
Options:

E1547542849. 1
61547542850, 2
61547542851, 3
61547542852, 4

Question Number : 89 Question Id : 61547510991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For which category of children 13 a Special Home meant?

(1) Run-away children (2) Orphaned children
(3) Children 1n conflict with law (4) Rescued bonded-labour children
Options:

E1547542853. 1
E1547542854. 2
51547542855, 3
61547542856, 4

Question Number : 89 Question Id : 61547510991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fod 2 Fra 30 3 ==t 3 foro B9 27

1) 97 g ©@) =

3) TR fawg way H fom = @) =ga-megl ¥ g =l T 9=
Options:

61547542852, 1
E1547542854. 2
E1547542855. 3
61547542856, 4



Question Number : 90 Question Id : 61547510992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which law provides that, when a court imposes a sentence of fine, the court may order whole

or part of the fine to be given to the crime victim?

(1) Section 265 F of the CrPC
(2) Section 357 of the CrPC
(3) Section 66 of the IPC

(4) Section 340 of the IPC
Options:

61547542557 1

E1547542858. 2

61547542559 2

61547542560 4

Question Number : 90 Question Id : 61547510992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
®H 91 - g8 ghfvea w1 2 & 59 =Eem a6 g1 @ 2 9 e 9 GEET 312ET 3961
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(1) e glw affar 1 w265
(2)  ©2 vl dfear & 9w 357
(3) YA gg WiEaT HI 9/ 66

(4)  UWdE 58 gfgar 1 g 340
Options:

51547542857, 1

61547542858, 2

61547542859, 3

61547542860, 4

Question Number : 91 Question Id : 61547510993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following offences have been recently decriminalised 1n India?

(a) Attempt to commit suicide
(b) Attempt to murder

(c) Consensual sex between homosexuals

(d) Adultery

Choose the correct option from the following :

(I)  (a)and (b)
2)  (b) and (c)
(3)  (b)and (d)

4)  (a).(c) and (d)
Options:
61547542861, 1
61547542862 2
61547542863 o
61547542864 4

Question Number : 91 Question Id : 61547510993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d)  =feEm

Frfafias 3 @ @ fowes =1 -
1) (2) 3 ()

(2) () I ()

(3)  (b) 3 (@)

4  (a). (o) 3R (@)
Options:
L15475428E81.
1547542882,
L1E47E42EES.
E1E47EAZERA.

[ N

Question Number : 92 Question Id : 61547510994 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which two of the following propounders are NOT biogenic theorists?

(a) Hooton
(b) Bonger
(c) Merton

(d) Sheldon

Choose the correct option :

(I)  (a)and (¢
(2)  (a) and (d)
(3)  (b) and (d)
@)  (b) and (c)

Options:
61547542565, 1

E1547542866. 2
B1547542867. 3
61547542868, 4

Question Number : 92 Question Id : 61547510994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d)  deed
()  (a) 3R (¢

(2)  (a) 3R ()

(3) ()3 (@)
@) ()3 (o)
Options:

E1547542865. 1
61547542866, 2
B1547542867. 3
61547542868, 4

Question Number : 93 Question Id : 61547510995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following 1s related to Green Criminology?

(a) Growing Cannabis plant
(b) Excessive fishing
(c) Loan Sharking

(d) Excessive logging

Choose the most correct option from below :

(1) (a) and (b) are correct
(2) (b) and (c) are correct
(3) (a) and (c) are correct

(4) (b) and (d) are correct
Options:

1547542569 1

E1547542570. 2

E1547542571. 2

61547542572 4

Question Number : 93 Question Id : 61547510995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) ()3 (b) & 2
2 (b)) Fd 2
(3)  (a) 3 (o) wE 2

4 (M) (@) Ed 2

Options:

61547542569 1
61547542870, 2
61547542871, 5
61547542872 4

Question Number : 94 Question Id : 61547510996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



According to the Protection of Human Rights (Amendment) 2019, who two of the following
shall be eligible for appointment as Chairperson of the NHRC?

(a) Former Chief Justice of India

(b) Former Judge of the Supreme Court

(c) Former Chief Justice of a High Court

(d) Former Judge of a High Court

Choose the correct option :

(1)  Only (a) and (b)
(2) Only (c) and (d)
(3) Only (a) and (c)

(4) Only (b) and (d)
Options:
61547542872, 1
61547542874 2
61547542875 3
615475425876, 4

Question Number : 94 Question Id : 61547510996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)  URd % YdId GEF AETEE
(b) I=G9 TETE * YIIE A
() 9 ETE & Y04 Jeg e

d) = FEEE & YO e

‘Hﬁf iEETg ?ﬁt' :

(1) Fad (a) IR (b)
(2)  @ad (c) 3N (d)
(3)  Fad (a) 3N (0)

@) a9 (b) IR (d)
Options:

615475425872, 1
61547542874 2
61547542875 3
61547542876, 4

Question Number : 95 Question Id : 61547510997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which officer has to record the statement of a fataly injured person if it i1s to be an
evidentory value?

(1) Deputy Commissioner (2) Gazetted Officer
(3) Investigating officer (4) Magistrate
Options:

61547542877, 1
61547542878, 2
61547542879, 3
E1547542880. 4

Question Number : 95 Question Id : 61547510997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) T s (2) TahT R
(3) == wfEmR (4) TfTEe
Options:

B1547542877. 1
61547542878, 2
61547542879, 3
61547542880, 4

Question Number : 96 Question Id : 61547510998 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which two of the following are non-random sampling designs?

(a) Systematic sampling
(b) Snow-ball samphng
(c) Purposive sampling
(d) Multi-stage sampling

Choose the correct option :

(1) (a)and (¢
(2)  (b)and (c)
(3)  (b)and (d)
(4)  (a)and (d)
Options:
61547542881, 1
61547542882 2

61547542882, 3
E1547542884. 4

Question Number : 96 Question Id : 61547510998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ffcfigd ® € ®iF 9 4 I@gee® Tiaey ST @ ?

(@)  GeAdred o
(b)  wrEie yfies
(c) GIER R

@)  =g-wdt e

() (a) 3R (o)
@) ()3 (o)
(3) ()3 ()

@)  (a) 3R (@)

Options:
61547542551, 1

E1547542882. 2
61547542883, 3
61547542884, 4

Question Number : 97 Question Id : 61547510999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which two of the following reasoning arguments are associated with general principles to

particular instances and specific facts to general principles?

(a) Subjective reasoning
(b) Inductive reasoning

(c) Eeproductive reasoning
(d) Deductive reasoning

Choose the correct option from the code given below :

(1) (a)and ()
(2)  (b)and ()
(3)  (b)and (d)

4)  (a)and (d)

Options:
£1547542885. 1



E1547542886. 2
B1547542887. 3
61547542888, 4

Question Number : 97 Question Id : 61547510999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a)  3TceTd faa=m

(b)  IAFHATHS faa=m

(c) HecIeE faae

(d) s e

= fou v Fe @ wdl fawe v

1) (a) 3 (©

2 ()3 (9
3 ()3 ()

@)  (a) 3R (@)
Options:
L1E47E42885 1
E1E47FEAZEBE. 2
1547542887, 2
1547542858, 4

Question Number : 98 Question Id : 61547511000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which two of the following persons the Child Welfare Commaittee (CWC) may allow a child to
be given for adoption as part of social reintegration of child in conflict with law and
neglected?

(a) to a person irrespecive of marital status

(b) to a person who 1s alcoholic and gamber

(c) to a childless couple

(d) to a person involved in prostitution

Choose the option :

(1)  (a)and (¢
(2)  (b) and (¢)
(3)  (b) and (d)

(4)  (c)and (d)
Options:
£1547542889. 1
E1547542890. 2
61547542891, 5
61547542892, 4

Question Number : 98 Question Id : 61547511000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



faf foeg vod 4 sfifom ot sufea oo % amifes Tedsen & 31 % &9 § 979 Fegm @
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(a) Tl off darfes feafa e =ats i

(b) T =EEAT IR IR HI
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1) (a) 3 (9
@ ()3 ()
3 ()3 @
@ (3@

Options:

61547542889, 1
61547542890 2
E1547542891. 2
61547542892, 4

Question Number : 99 Question Id : 61547511001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following are correctly matched?

(a) Tokyo Rules — Non-Custodial measures
(b) Beijing Rules — Corporate Crimes

(c) Rivadh Guidelhines — Probation system

(d) Nelson Mandela Rules — Treament of prisoners

Choose the most correct option given below :

(1) (a) and (c) are correct
(2) (b) and (d) are correct
(3) (b) and (c) are correct

(4) (a) and (d) are correct
Options:
E1547542895. 1
E1547542594. 2
C1547542595 2
1547542596 4

Question Number : 99 Question Id : 61547511001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)  Zifral wod —  T-arhiwer Ium
b)  Hifem w=ea —  FHHRE WY

(c)  T=mE sEasH —  oftEhE gorrett

d)  AoEd A wod —  3fE s =R
= o7 = v fowes =1 =94

1) (ke
(2)  (b) ¥k (d) vl
(3) (b)) 3R (o) & &

@4  (a) 3 () = d

Options:

61547542893, 1
E1547542894 2
61547542595, 5
61547542896, 4

Question Number : 100 Question Id : 61547511002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which two of the following are not random/probability sampling methods?

(a) Convenience sampling
(b) Multi-stage sampling
(c) Quota sampling

(d) Cluster sampling

Choose the correct option :

(I) (a)and (o)
2)  (b)and (¢
(3)  (b)and (d)

4)  (a)and (d)
Options:
61547542897, 1
61547542898, 2
61547542899 2
61547542900 4

Question Number : 100 Question Id : 61547511002 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  gEgHH wioe
b) =g =g s

()  @iel Fldewl
d) =Yg viae
gl Taemeg ﬂﬁ“ i

(1)  (a) 3 (¢)
(2) ()3 (o)
(3) ()3 (@)

4)  (a) 3R (@)

Options:

61547542897, 1
E1547542898. 2
61547542599, 5
61547542900 4

Question Number : 101 Question Id : 61547511003 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following are related to child in need of care and protection as per J.J. Act.
20157

(a) Obszervtion Home
(b) Child Welfare Commaittee
(c) Special Home

(d) Children Home

Choose the most appropriate answer from the following :

(1) (a) and (b) are correct
(2) (b) and (c) are correct
(3) (c) and (d) are correct

(4) (b) and (d) are correct

Options:

615475424901 1
61547542902, 2
61547542903 =
61547542904, 4

Question Number : 101 Question 1d : 61547511003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(@)  H&T TR

(b) =T o GiEfd

) T Tm
d) TR
friffiag # @ waifes v soc = -

1) (a) 3k ) d
2) () Ik () @& d
(3)  (c) 3 (d) w2

4 Ik @wd

Options:

61547542901, 1
61547542302 2
61547542902 2
61547542904, 4

Question Number : 102 Question Id : 61547511004 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following are related to Differential Association Theory?

(a) Learned behaviour
(b) Punmishment to fit crime
(c) Inner control/Self esteem

(d) By interaction and communication

Choose the most appropriate option from below :

(1) (a) and (b) are correct
(2) (b) and (c) are correct
(3) (a) and (d) are correct

(4) (b) and (d) are correct

Options:

615475424905 1
61547542906, 2
61547542907, 5
61547542908, 4

Question Number : 102 Question Id : 61547511004 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1) (23R )& 2
2 (b)IR (@ FHE
(3) (23R (@2

@ (b) 3R () w2

Options:

61547542905, 1
61547542306, 2
61547542907, 2
615475429038, 4

Question Number : 103 Question Id : 61547511005 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Protection of Children from Sexual Offences Act. 2012 deals with —

(a) Prohibition of child pornography
(b) Apge of the child 15 16 vears
(c) Gender netural law for both child and the accused

(d) Parents of the child are also made accused

Choose the correct option :

(1)  Only (b) and (d)
(2) Only (a) and (c)
(3) Only (d) and (a)

(4)  Only (c) and (d)
Options:

61547542909 1
61547542910 2
61547542911, =
61547542312 4

Question Number : 103 Question Id : 61547511005 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  Te1 37¥eiiomr g
(b) T I A 16 99 2
() =T iR Tl a1 & for fom e wrm

d) e o grar-Taar w1 9 eAfiEs S T 2

(1)  &aFd (b) 3R ()
(2)  Fad (a) 3T ()
(3)  Fad (d) R (a)

4)  &ad (c) IR ()

Options:

61547542909, 1
61547542910 2
61547542911, 5
61547542912 4

Question Number : 104 Question Id : 61547511006 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



If the arithmetic mean of a distribution i1s 10, which among the following can be the
distribution?

(a) 8.9 10, 11.13

(b) 10,11, 12 135, 14

(c) 6.7.8.9, 10

(d) 89 D01 18.15

Choose the most correct option from those given below :

(1) (a) and (b) are correct
(2) (b) and (c) are correct
(3) (a) and (d) are correct

(4) (c) and (d) are correct
Options:
15475429121
1547542914 2
61547542915 2
61547542916 4

Question Number : 104 Question Id : 61547511006 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) 8,9, 10,11, 12
() 10, 11, 12,13, 14
@ 6,7,8,9, 10

(d) Teony. 20 10, 11,37, 19

Fefciig | & waitys gl Feed IHT

1)  (2) 3R )= 2
@) (b)) 3N (o) FE 2
(3)  (a) 3 (d) & 7

4)  (c) 3T (d) @&l 2

Options:

61547542913, 1
61547542914 2
61547542915 2
61547542916 4

Question Number : 105 Question Id : 61547511007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following are part of the juvenile correctional system?

(a)
(b)
()
(d)

Special Home
Sub-dail
Juvenile Probation

Dastrict Jail

Choose the most appropriate option :

(1) (a) and (c) are correct
(2) (b) and (c) are correct
(3) (c) and (d) are correct
(4) (b) and (d) are correct

Options:

15475429171

1547542918 2

1547542919 2

1547542920, 4

Question Number : 105 Question Id : 61547511007 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a) 311 (c) W& @
(2) (b) 31 (c) wE1 &
(3) (c) 3R (D) Ed 3

@)  (b) 3 (d) @l &

Options:

£1547542917. 1
615475429158, 2
61547542919,
61547542920 4

Question Number : 106 Question Id : 61547511008 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following are victim rights?

(a) Rehabihitating offenders
(b) Prompt filing of complaints
(c) Reforming offenders

(d) Information about case proceedings

Choose the most correct option from the following :

(1) (a) and (b) are correct
(2) (b) and (c) are correct
(3) (c) and (d) are correct

(4) (b) and (d) are correct

Options:

61547542921, 1
61547542922 2
61547542923 2
61547542924 4

Question Number : 106 Question Id : 61547511008 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  TTIEET &1 A
b)  foermEdl & a2 R S
(¢)  TTITEFT i GaRAT
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FefkTiad ¥ waies 2 Fwed g

1) (2) 3R b) &2
2 ()3 (=2
(3) (AR (@=dd

4) ()R (d) w2
Options:
L15475424021. 1
15475420922 2
L1547E424022 2
E1E47E4AZ2924 4

Question Number : 107 Question Id : 61547511009 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the one was first point of time to explain criminal behaviour in terms of physical
characteristics of the offender, and emphasised that criminals are different physically from
normal persons and possessed inferior physical characteristics?

(1) Cesare Lombroso (2) Alfred Brnet
(3) Charles Goring (4) Gabriel Tarde
Options:

61547542925 1
61547542926, 2
61547542927, 3
E1547542925. 4

Question Number : 107 Question Id : 61547511009 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547542925,
61547542926,
E1547542927.
61547542928,

o IR

Question Number : 108 Question Id : 61547511010 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mixed method in Criminological research deals with

(a) Collection of qualitative data
(b) Use Felicific calculus
(c) Collection of quantitative data

(d) Burking of crime

Choose the correct option :

(1)  Only (b) and (d) (2) Only (a) and (c)
(3)  Only (a) and (d) (4) Only (d) and (c)
Options:

615475429259 1
61547542920, 2
61547542921, 3
E1547542932. 4

Question Number : 108 Question Id : 61547511010 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d)  3IWE HI =T
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(1)  FaEd (b) 3R (@) (2) %9 (a) 3R (c)
(3)  FaA (a) 3R (d) (4) 34 (d) 3R (¢)
Options:

61547542929, 1
61547542930, 2
E1547542921. 3
B1547542932. 4

Question Number : 109 Question Id : 61547511011 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Juvenile Justice (Care and Protection of Children) Act, 2015 ‘Child in need’ of

Care and Protection’ means a child

(a) Who iz found without any home or settled place of abode and without any ostensible
means of subsistence

(b) Who 13 being or 1s likely to be abused for unconscionable gains

(c) Child walking on street with parents

(d) Who 1s watching film with parents

Choose the correct option :

(1) Only (c) and (d)
(2)  Only (a) and (b)
(3)  Only (c) and (b)

(4) Only (a) and (d)
Options:

61547542933 1
61547542924 2
61547542935, 3



E1547542936. 4

Question Number : 109 Question Id : 61547511011 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) == (o) R (d)
@ A (a) 3R (b)
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Options:

61547542933, 1
61547542934 2
E1547542935 =2
61547542926 4

Question Number : 110 Question Id : 61547511012 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U.N.Convention on the Rights of the Child. 1989 emphasises —

(a) Securing the best interest of chald
(b) Custodial investigation of child
(c) Social reintegration of child vietim

(d) Use of third degree method during interrogation

Choose the correct option :

(1)  Only (b) and (d)
(2) Only (a) and (c)
(3)  Only (b) and (c)

(4) Only (d) and (c)
Options:
615475429371
61547542928 2
61547542939, 3
615475429340, 4

Question Number : 110 Question Id : 61547511012 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  FaEd (b) 3R (@)
(2)  FEA (a) I (o)
(3)  #aa (b) I (c)

@)  FaEd (d) IR (o)
Options:
E1E47E42927 1
15475420938, 2
1547542939 2
1547542040 4

Question Number : 111 Question Id : 61547511013 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which facilities are allowed to convicts 1n jails in India?

(a) Physical exercise
(b) Outside cooked food

(c) Meeting with friends and relatives

(d) Mobile phones

Choose the correct option :

(1)  (a)and (b)

(2)  (a)and (c)

(3)  (b) and (c)

(4)  (c) and (d)
Options:
61547542941, 1
E1547542942 2
61547542942 5
61547542944 4

Question Number : 111 Question Id : 61547511013 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  IIRIE =@™
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(d)  TEEd B4
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(3) ()3 (o)
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Options:

61547542941, 1
61547542942 2
61547542943 =
61547542944 4

Question Number : 112 Question 1d : 61547511014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which functions are associated with the service of probation of offenders?

(a) Pre-sentence report
(b) Parcle

(c) Supervision

(d) Remission

Choose the correct option :

(1)  (a) and (b)

(2)  (a)and (c)

(3)  (b) and (c)

4)  (c) and (d)
Options:
61547542945 1
61547542946 2
61547542947, 3
61547542345 4

Question Number : 112 Question Id : 61547511014 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
15475424045 1
E1E47E4Z294E 2
1547542047 2
E1547542048 4

Question Number : 113 Question Id : 61547511015 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which States in India have separate women jails?

(a) Chhattisgarh

(b) Haryvana

(c) Maharashtra

(d) Uttar Pradesh

Choose correct option :

(I)  (a) and (b)
2)  (b) and (c)
(3)  (c)and (d)

(4)  (a)and (c)
Options:
61547542949 1
61547542950, 2
61547542951 =
61547542952, 4

Question Number : 113 Question Id : 61547511015 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



WG & T U=g1 § 37oW § Afgen ot 27

(a) BUEIE
(b) BT
(c) HeElTE

d) 3R e

wel foweT =4 -
(1) (a) 3R ()
@) (b) 3 ()

3 (03 @)

4)  (a) A (¢
Options:
154754240449 1
1547542950 2
1547542951 =2
1547542952 4

Question Number : 114 Question Id : 61547511016 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which countries, among the following. have probation service for the convicted persons?

(a) Bangladesh
(b) China
(c) Saudi Arabia

(d) Singapore

Choose the correc option :

(1)  (a)and (b)
2)  (b) and ()
(3)  (a)and (d)

4) (c)and(d)
Options:
61547542352, 1
61547542354 2
61547542955 3
61547542956, 4

Question Number : 114 Question 1d : 61547511016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



efcritgd # @ fom 2l | faigam =athal & foro qitefian ga1 @ ?

(a) e
(b) =HH
(c) ol 3

@ R

Tl fawes 94 -
1) (a) IR (b)
@  (b) I (o)

(3)  (a) IR (@)

@)  (c) 3R (d)
Options:
L15475424095=2 1
E1E47E42954 2
1547542955 =
L1547542955 4

Question Number : 115 Question Id : 61547511017 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In modern times, which principles govern punishment to those conwvicted for committing

crime”?

(a) Retribution
(b) Reformation
(c) Revenge

(d) Rehabilitation

Choose the correct option :
(1) (a)and (c)
(2)  (b) and (c)
(3)  (b) and (d)

(4)  (a) and (d)
Options:
615475423957, 1
61547542958, 2
61547542959 3
61547542960, 4

Question Number : 115 Question 1d : 61547511017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



IO 99 °, 3R w1 & fou falg g ot #t <fer w1 F fom w9 @ fagm o d7

(a) gfdwR
(b) q4r
(c) EL-q]]
@ g
ol fowmes =4 -

(1) (a) 3R (o)

2) ()3 (o)
(3) ()3 (@)

@  (2) 3R ()
Options:
61547542357 1
61547542958, 2
61547542959 3
61547542960, 4

Question Number : 116 Question Id : 61547511018 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List I with List I1 :

ListI List IT
(a) Admonition (1)  Prayaschita
(b) Remonstrance (11) Vakadanda
(c) Fine (m) Vadhadanda
(d) Imprisonment (1v) Arthdanda

Choose the correct option from the codes given below :

(1 (a)-@). ©)-Q), (e)-v). (d)-(i1)
2)  (a)-@). (b)-Qi). (e)-(G11). (d)-Gv)
(3)  (a)-(1). (b)-(v). (e)-(1). (d)-0)
@) (a)-w). (b)-(1i). (c)-G). (d)-(11)

Options:

61547542951 1
61547542962, 2
61547542963 o
61547542964, 4

Question Number : 116 Question 1d : 61547511018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



g1 & G-I & 91y gafe $ifee

g 1 111
(@) wcdT () yERET

by e Gi) Hhge

() g (i) =we

) FEEE (iv) 3miEe

= fou o 2 @ @ fawe ghw

1) (a)-@). (b)-Q). (c)-(v). (d)-(11)
2)  (a)-(). (b)-(). (c)-(1i1). (d)-(v)
3)  (a)-G1). (b)-(v). (c)-(1). (d)-Q)
“4)  (a)-(w). (b)-(m). (c)-(). (d)-(11)

Options:

61547542961, 1
61547542962, 2
61547542963 2
E1547542964 4

Question Number : 117 Question Id : 61547511019 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the List — I with List — II

(a)

(b)

(c)

(d)

Codes:

1)
(2)
(3)
4)

Options:

ListI

Biclogical Positivism

Psychological Positivism

Sociological Positivism

Radical and Critical Criminology

(a)-Gv). (b)-(G1D), (c)-(11). (d)-@)
(a)-(11). (b)-(1). (c)-(@). (d)-Gv)
(a)-(v). (b)-(@). (c)-(ii1). (d)-(i1)
(a)-@). (b)-(v). (c)-Gi). (d)-(ii1)

61547542965, 1
E1547542966. 2
E1547542967. 3
61547542968, 4

List IT
Abohtionalism, Capitalism and class

svstem

Anomie, mode of adaption, differential

association and strain

Conditioning. differential and
intelligence

Bio social explanation., degeneration

and genetics

Question Number : 117 Question 1d : 61547511019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



g1 1 g=-11 & =y ghfog Fifee

g g1
(a) <o TayaE () TG, YSiETE 3 T -Ee
(b) THEIHT THEATG (i) AT, sgHREH w1 AeEw, fadeh vHiiEeEH
3 T (V)
(c) EmIfeh TeI&aTg (i) IgFor, fves 3k gig
(@) tfewer AR AT AW I (iv) <ig G =R, IR A AR
1 fou v Fz & w31 fawed gHv -

1 (@-@w). (b)-Gib), (¢)-G1). (d)-()
(2)  (a)-@i). (b)-(D). (e)-G). (d)-Gv)
3  (@-@w). (b)-(). (¢)-(i1). (d)-G1)
@ @-@. (b)-Gv). (e)-(1). (d)-Gi1)

Options:

51547542965, 1
61547542966, 2
61547542967, 2
61547542968 4

Question Number : 118 Question 1d : 61547511020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List I with Laist IT

List I List II
(a) Capable guardian (1) Secondary victimization
(b) Impact of victimization (11) Stockholm Syndrome
(c) Fear of crime (111) Vietim Impact Statement
(d) Feeling for the aggression (iv) Acute Stress Disorder (ASD)

(v) Routine Activity theory

Choose the correct option from the given below :

1) (@)-). (b)-(av). (e)-G). (d)-(11)
(2)  (a)-av). (b)-(n). (¢)-(i). (d)-()
3)  (@)-av). (b)-(v), (0)-(11). (d)-()
@) (a)-0). (b)-(1). (c)-(u1). (d)-(1v)

Options:

61547542969, 1
61547542970 2
61547542971, 2
61547542972 4

Question Number : 118 Question Id : 61547511020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 &1 g=-11 & 91 gafoa Fif

g1 11
(a) THFH FIIEF Q) fedfms sedfiss
(b) Stz =1 39 (i) wiwgm fagm
(c) WY FT ¥ (1) Icdifga oy FeH
(d) STIEYT FaE (iv) T8 919 I

(v) Afcs wEway fagm
= o 12 fawedt d § 9 f9wen 74 -

(1) (@)-(v). (b)-(av). (c)-(). (d)-(11)

(2)  (@)-Gv). (b)-G1i). (c)-(1). (d)-()
(3)  (a)-Gv). (b)-(v), (¢)-(u1). (d)-(1)
4  (a)-Q). (b)-(1), (c)-(i1). (d)-(v)

Options:

61547542969, 1
61547542970 2
61547542971, 2
E1547542972 4

Question Number : 119 Question Id : 61547511021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which early prison system was there in United States of America, where the prisoners were
kept in separate cells during day and might?

(1) The Auburn system (2) The Elmira system
(3) The Ittionis system (4) The Pennsylvanian system
Options:

61547542972 1
E1547542974. 2
B1547542975. 3
B1547542976. 4

Question Number : 119 Question 1d : 61547511021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



T Tsd AR &1 e RGeS FRETR smEean § Sied i fod 37K Ud § SIe-31e ®ihgl § @l
SATAT AT 7

(1)  3fiad =Zaen (2) UEHWT SHEE
(3)  sfommEg =T (4) TAfEeatTETE =
Options:

E1547542973. 1
E1547542974. 2
B1547542975. 3
B1547542976. 4

Question Number : 120 Question Id : 61547511022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match Last I with List I1

List I List II
(a) Classification (1) Non-Custodial measures
(b} Incapacitation (11) Prisons Act
(c) Community Role (m) Theory of Punishment
(d) Tokwvo Rules (1v) Restorative Justice

(v) Researcher's fraud

Choose from the correct option given below :

(1 (@)-av). (b)-Gi1). (c)-G1). (d)-()
(2)  (a)-@). (b)-Gii). (c)-(v). (d)-()
3)  (a-w). (b)-id). (¢)-@). (d)-a1)
@ (@-0). (b)-(i), (c)-(11). (d)-Gv)

Options:
61547545977 1

E1547542978. 2
E1547542979. 3
51547542980, 4

Question Number : 120 Question Id : 61547511022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



g1 &1 g1 % 97 gafom Hiie
g1 11

(a) =TeRLT Q) A-Teredt s
(b) eI (SAEUTHETH) () FRER A
(c) EHEHF qiHH (i) %= Rgm

(d) T FEEEE (v) T TATE

(v) SiEshal &1 w9 (%)
Fefafgs 9 @& fEwer ghu -

(1) (a)-(v). (b)-(111). (¢)-(11). (d)-()
(2)  (2)-(1. (b)-G1), (c)-(v). (d)-()
(3)  (a)-(v). (b)-G1). (c)-(3). (d)-(11)
(4) (a)-(1). (b)-(11). (c)-(111). (d)-(v)

Options:

615475429771

61547542975 2

615475429759, 3
61547542980, 4

Question Number : 121 Question 1d : 61547511023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with Last I1

List I List II
(a) Mean (1) Standard Dewviation
(b) Bi-vamate (11) Descriptive Statistics
(c) Multi-variate (m) Mult1 Colinearity
(d) Measure of Dispersion (1v) Correlation

(v) Structural Equation Modelling

Choose from the correct option given below :

(1) (a)-G). (b)-(1). (c)-(i1). (d)-(v)
2)  (@-(v). (b)-(1i). (c)-G1). (d)-()
(3)  (a)-@). (b)-(). (¢)-(v). (d)-(@)
@) (@-Gv). (b)-(1). (c)-(G1). (d)-()

Options:
E1547542951.

E1547542982,
B1547542953.
51547542954,

[ N

Question Number : 121 Question 1d : 61547511023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



G-I ! g=i-11 % @12 gofer $ifao

g1 g

(a) T (@) T fo=EeH

) fg = (i) feRoTTeRe AfET]
() =g fo= (i) =g eR@E

d) faws= =1 9 (iv) ©E ¥99

(v) e gHiR giaego
F=fefes @ &t faswen gho -

1) (a)-). (b)-(1). (¢)-(111). (d)-(v)
2)  (a)-(v). (b)-(ii). (c)-(i1). (d)-(1)
@) (a)-@). (b)-Gv). (c)-(v). (d)-@)
@) (a)-Gv). (b)-Gi1). (e)-(D). (d)-()

Options:

61547542981, 1
61547542982, 2
61547542983 o
615475429354 4

Question Number : 122 Question 1d : 61547511024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with Last I :

(a)
(b)
()
(d)

Choose from the correct option given below :

(1)
(2)
(3)
4)

Options:

List I
Non-cognizable
POCSO Act
Commercial Sex

Cognizable offence

(a)-(1). (b)-(a1), (c)-(111). (d)-(v)
(a)-(v). (b)-(iii). ()-(1). (d)-G)
(a)-(v). (b)-(iv). (c)-(111), (d)-(1)
(a)-(v), (b)-(11). (c)-(). (d)-(11)

E1547542985. 1
61547542986, 2
61547542987, 3
61547542958, 4

@
(11)
(111)
iv)
)

List IT

Immoral Traffic (Prevention) Act
Waging War against India

Child Abuse

Obstructing Public Servant

Protection of Human Rights Act

Question Number : 122 Question Id : 61547511024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g1 F1 g=-11 % 91 grfera i

i | I
(a) €A () arifaes = (Far) st
(b) drFEl srffEm (i) unE* g 32
(¢) =Tforfsye I R (iii) =TeT T
(d) @IF IRH (iv) i Ga% ®I ARG HEAT

(v) HAHaEsER ey TfEtEn

Fefetiign & @& fawes gy

1) (a-Q). (b)-@1). (c)-Gi1). (d)-Gv)
(2)  (a)-(v). (b)-(ii). (c)-(1). (d)-()
(3)  (a)-(v). (b)-(v). (c)-(m). (d)-(11)
4)  (a)-Gv). (b)-Gid). (c)-(). (d)-(11)

Options:

£1547542985. 1
615475429586, 2
61547542987, o
61547542988, 4

Question Number : 123 Question Id : 61547511025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List I with Last I1 :

List I List IT
(a) Cloward and Ohlin (1) Delinquent sub culture theory
(b) Walter C. Reckless (11) Neutralization theory
(c) Cohen (11) Dafferential opportunity theory
(d) Matza and Sykes (iv) Containment theory

Choose from the correct option given below :

1) (a)-Gi). (b)-Gv). (e)-@). (d)-(1)
2)  (a)-0). (b)-(11). (c)-(v). (d)-(11)
3 (a)-@). (b)-(1). (e)-(ii1). (d)-(av)
@  (a)-). (b)-Gui). (c)-(1). (d)-Q)

Options:

615475429589, 1
61547542930, 2
615475429391 =2
E1547542992 4

Question Number : 123 Question Id : 61547511025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 1 g-11 % &7 gafod fio

gl I =11
(a) FEES 3 SPElem @) TR 39 geR g
(b) e €. W () Fryure faga
(c) i (i) fad s fagm
(d) HeE I HEEE Gv) wEH fagi
9 3 T Rt 7 @ w e 9 -

(1) (a)-(a1). (b)-(w). (c)-G). (d)-(11)
2 (a)-0). (b)-(i1). (c)-(v). (d)-(11)
(3)  (@)-). (b)-(), (c)-(111). (d)-(v)
@) (a)-Gv). (b)-Gid). (e)-(1). (d)-()

Options:

61547542989,
£1547542990,
61547542991,
61547542992,

o LIRS

Question Number : 124 Question Id : 61547511026 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is not correctly matched?

(1) Paul Tappan — Crime, Justice and Correction
(2) John L. Gillin — Criminology and Penoclogy
(3) Rafaelo Garofalo — Criminal Psychology

(4) Dawnid L. Hudson — Hate Crimes
Options:
61547542993 1
61547542994 2
61547542995 2
1547542996 4

Question Number : 124 Question 1d : 61547511026 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frerfrfan 7 & w7 v w1 § gife 76 27

(1)  97d 2997 — 370y, =9 37K g91 (2) = ue, fifem — 3oy e 3R 22 e
(3)  ihell TREEE — HTEE gAiETE (4) 3fas e, g8 - g FiHT WY
Options:

61547542992, 1
E15475429394. 2
E1547542935. 3
61547542956, 4

Question Number : 125 Question Id : 61547511027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List I with List IT :
List I List II
(a) Victimless crime (1) Gunrunnmng
(b) Queer (1) Stockholm syndrome
(c) Domestic violence (m) Phishing
(d) Cyber crimes (1v) Attracted to any gender

(v) Attempt to Swcide

Choose the correct option from given below :

(1) (a)-(v). (b)-(iv). (c)-(11). (d)-(111)
2)  (a)-@v). (b)-@). (c)-(v). (d)-(®)
(3)  (a)-av). (b)-(u). (c)-(11), (d)-()
@) (a)-@. (b)-(a). (c)-(i11). (d)-(v)
Options:

£1547542997. 1

61547542935 2

61547542955, 3
61547543000, 4

Question Number : 125 Question 1d : 61547511027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



G-I ! g=i-11 % @12 gofer $ifao

g1
(a) iz fodm sy
(b) Taf= dwg st (fx)
(0 e e

(d) drEat IAWH

Frerferfian & wdt e g -

(1) (a)-(v). (b)-(iv). (¢)-(11). (d)-(111)
@) (@)-av). (b)-w). ()-(v). (d)-@)
(3 (a)-@v). (b)-(w). (c)-(i1). (d)-Q)
@) (a)-@. (b)-@). (c)-(i1). (d)-(v)

Options:

61547542997 1

E15475424998. 2

E15475429949. 3
515475423000, 4

111
@ =W
() wwem g
(i) see % U AT i 2 (THfE)
(v) Tt o fTom & ufa sreem
(v) 3ATHEA & 99T

Question Number : 126 Question Id : 61547511028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following in sequence of execution using the codes given below :

(a) Counselling
(b) Dependence

(c) Relapse Prevention

(d) Managing withdrawal syvmptoms

Codes:

(1) (@).®). (). d)
@) (). ®). (). (a)
) (b).(d). (a). (@
@ @ (. ®). (@



Options:

61547543001, 1
61547542002, 2
E15475420032. 2
61547542004, 4

Question Number : 126 Question Id : 61547511028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= fod T Fe T TER Fd 30 HEARGd ®I HWET & %0 0 SFaead HIN, ;

()  9UHE
(b) e
(c) CICOEN=Cl |

(@)  TE GET y9ed

G

1) (@)-.®. ).
@) (. (). (). (@)
(3)  (b).(d). (a). (e
@ (). (). (). (@)

Options:

61547542001 1
61547542002, 2
61547542002 5
61547543004, 4

Question Number : 127 Question Id : 61547511029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following in sequence of execution by using the codes given below :

(a) Inference
(b) Main study
(c) Rehability and Vahidity

(d) Pilot study

Codes:

(1) (@).®). (. d
@) (). (0). (). (@)
(3)  (c). (d). (a). (b)
@)  (a). (d). (c). (b)

Options:

61547543005, 1
61547543006, 2
61547543007, 2
1547542008, 4

Question Number : 127 Question Id : 61547511029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= fou w2t &1 gmm = Gaforfigs # Fvae & segar @

(a)  Fi=md

(b) e =TT
(c)  Tavagdimar stk duar

(d)  TweEf (TEeR) T

C A

D @. 0. ©.
@2 (@. (). (). (@)
(3) (). (d). (a). (b)
@  (@.d). (. (b

Options:

61547543005, 1
61547542006, 2
E1547542007. 2
61547542008, 4

Question Number : 128 Question Id : 61547511030 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following theories 1n order of appearance using the codes given below :

(a) Labelling

(b) Containment
(c) Neutrahzation
(d) New Deviance
Codes:

D @.®.©. D
@) @. (). (). (@
(3) (). (b). (a). (d)
4 (.. ®). (@

Options:

61547543009, 1
61547543010 2
61547542011, 2
E1547542012. 4

Question Number : 128 Question Id : 61547511030 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= fou o FE F1 wEm = HAeicfigy Hgmi # 3 Etd % H8 ° @

(a)  ATHIAT

(b)  FTEH
)  Tafsmao
(d) 74 fo=em
%EZ:

(1)  (@).®). (. d)
@) (@. (). (), (@)
3 (). (b). (a). (d)
@  (a).@). ®). (@

Options:

61547542009, 1
E1547542010. 2
61547542011, 5
61547542012 4

Question Number : 129 Question Id : 61547511031 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following theories/theorists in sequence of appearance using the codes given

below :

(a) Lombroso
(b) Hooton
(c) Classist
(d) Goring
Codes:

(L (@). (). (). (d)
2)  (d). (). (b). ()
3) (0. (a). . (b)
@ (@) (), ©. ()

Options:

51547543013, 1
61547543014 2
61547543015 =2
1547542016 4

Question Number : 129 Question Id : 61547511031 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= @ ™ % =1 v w0 gy Fefafen fg /el F s sttt % Fw0 9 =aeem S

(a) <!
(b) B

() TR
(d)
@ B

(1) (@). (). ®). d)
@) (. (. (). (a)
(3) (). (a). (d). (b)
@  (@).®). (). d)

Options:

61547543013, 1
61547542014 2
£1547542015 =2
61547542016, 4

Question Number : 130 Question Id : 61547511032 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in order of occurance using codes :

(a) Training of inmates
(b) Release of inmates
(c) Classification of inmates

(d) After care work

Codes:

(I @.®). (. d)
@) @. (). ®). @
B) (@) (). (d). (b)
@ (0. (a). b). ()

Options:
61547542017, 1

E1547543018. 2
61547543015, 3
61547543020, 4

Question Number : 130 Question 1d : 61547511032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fe HT TAM T 7Y, HEACREd H 396 ITRAM ® FHE H Faread b, ;

(a)  =fcal =1 gfra
(b)  =fea #i fizs
(c)  =fear =1 it
(d) I GET wE
& :
(1) (a). (b). (c). (d)
(2) (d). (c). (b). (a)
(3) (a). (c). (d). (b)
(4) (c). (a). (b). (d)
Options:
15475420171
1547542018, 2
15475423019 =2
1547542020, 4

Question Number : 131 Question Id : 61547511033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in sequence of occurance using the codes given :

(a) Probation officers record called

(b) Crime occurs

(c) Release on probation

(d) Magistrate seizes of mitigating circumstances
Codes:

1 (). ). B). (@)
@) (@.®).@©. d
3 (@d). ®). (. (@
@)  (b). (d). (a). ()

Options:

61547543021, 1
61547543022 2
61547542022 2
E1547542024 4

Question Number : 131 Question Id : 61547511033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= fou v Fe F1 vEm W FEfoia # 39% g F FAHER T

(a)  Oidien 37fasn & 3fyorg T
(b) ST T g
)  ufeian @ e
(d)  afeede 1 v aRfertet &t gggm
o
(1) (e). (d). (b). (2)
(2)  (a). (b). (). (d)
3 (). (). (). (a)
4)  (b). (d). (a). (¢
Options:
61547543021, 1
1547543022, 2
61547543023, 3
61547543024 4

Question Number : 132 Question Id : 61547511034 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following IPC chapters. as these appear. using the codes given :

(a) of offences against property
(b) of offences against the State
(c) of offences against human body

(d) of offences against public tranqulity

Codes:

1) @. (). (). ()
@) (). (d). (@. @
@) @ (©. (@ (b)
@ (@. ). (. d

Options:

61547543025, 1
61547542026, 2
E1547543027. 2
61547542028, 4

Question Number : 132 Question Id : 61547511034 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fe H1 9E w0 g0 Fefafen yRdE g8 @i % vl 6 39 wgyie & %we § saten i

(a)  E9f & foeg s1w™
(b) =T & fowg 3T
()  ©Hd IR & fasg 3w

(d) =9 vl & faeg sw™

[ T

(1)  @. (). (b). (@
2 (). (D). (). (@)
3  @. (). (). (b)
@ (@ (). (.

Options:

61547543025, 1
61547543026, 2
61547543027, 2
61547542028 4

Question Number : 133 Question 1d : 61547511035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in sequence of execution by using the codes :

(a) Content analysis

(b) Establish reliability
(c) Make inferences

(d) Collect data

Codes:

1) (). (). (a). (@
@) (@. ). (. d
@) (). (). (. ()
@ (. (. ®). (@)

Options:

615475432029, 1
E1547542020. 2
61547542021, 5
61547543032 4

Question Number : 133 Question Id : 61547511035 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fe &1 T F=d gu, Fefafied w39t sufeaf & wn § =afem Sl

(a)  fowgamg fovomm
(b)  TogaetmaT @i we

()  FAH <FTH

(d)  3TT&e THT FET

he .t

(1) (). (d). (a). (e
@) (@.®). ©@.
(3)  (d). (). (0. (@
@ (d). (c). (). @)

Options:

61547543029, 1
61547543030 2
61547543031 2
E1547542032. 4

Question Number : 134 Question Id : 61547511036 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following aspects of trafficking 1in sequence, using the codes below :

(a) Source district

(b) Destination district
(c) Transportation

(d) Recruitment

Codes:

1) @-. ). (©. (b
@)  (@. (@). (). (@
3 (@.®). (. d
@ (@. (. M) (@

Options:

61547542033 1
61547542024, 2
61547542035, 5
61547543036, 4

Question Number : 134 Question Id : 61547511036 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= fou U Fe FT 9E@R W g & SEfafiad 98 w1 wEHER o

(a) @0 foen

(b)  wa=a foen

()  wiEeE

(d) e

L T

(1) (a). (d). (c). (b)

(2) (d). (a). (b). (c)

(3) (). (b). (c). (d)

(4) (d). (c). (b). (a)
Options:
651547543033, 1
651547543034, 2
51547543035, 3
51547543036, 4

Question Number : 135 Question Id : 61547511037 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in sequence of occcurrance in aleoholism using the codes given below

(a) Curosity
(b) Chronic drinking
(c) Social drnking

(d) Regular drinking

Codes:

1 @. ©. (). (a)
2) (0. (a), (). ()
(3) (@) (). (d). (b)
@ (2. (D) (@.

Options:

61547543037, 1
61547542028, 2
61547542029, 5
61547543040, 4

Question Number : 135 Question Id : 61547511037 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= feu v %z @ g #= Aefoied w o =ea § 9o & AR a0

(a) ST

(b) e (SHIHF) TEIH

()  dmEiaE FegH
) Fafog ggam
i

1 @). (©). (b). (@)
2) (). (a). (). (D
(3)  (@).(c). (d). (b)
@ (@.®). .

Options:

61547543037, 1
E1547542038. 2
61547542029, 5
61547542040, 4

Question Number : 136 Question Id : 61547511038 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Assertion (A) : Traditional crimes in India is represented by Identify theft. credit card

frauds and phishing.

Reasoning (R): Major enterprises that provide illicit profits in India are numbers betting
(Matka), drug trafficking, estate raceteering. automobile thefts and

supplying illicit weapons
Codes :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) (A) 18 true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:
15475420411
E154754=042 2
1547542043 2
61547542044 4

Question Number : 136 Question Id : 61547511038 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= & wo foo w2 - v w6 erfimeE (A) 3 g T (R) FE a2

T (A) - UG § YEFH IR, $ise ®IE HIE 31N SelaelHeh werars WREG R H
TiaHgea F:d 2

% (R) : Yd § 3799 Y TEH w90 g 399 @ - A9 6l (W), HIeh qer il
TR, TG G@Tgel, arel Sl = 3T AT FAHT SRER STy FET |

I gH1 HIAT & e °, Feafomga § wdt fawey gRu .

(1) (At @®) g & 2
) (A) 3tk ®R) 2 Tom 2
(3 (A= 2, Wg (R) T 2

4  (A)7ed 3, weq (R) 9 2



Options:

61547543041, 1
61547542042 2
E1547542043 =2
61547542044, 4

Question Number : 137 Question Id : 61547511039 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The functionalist interpretations of female criminality was given by

Kingsley Davis.

Reasoning (R): Prostitution arises as a black market in Sex. It arises in circumstances

where demands for sexual novelty cannot be supplied within the

framework of marriage.

Codes :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:
E154754=045 1
1547542046, 2
61547542047 3
51547542045 4

Question Number : 137 Question Id : 61547511039 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= @ Fom g 1w 2 - vF @ AfiEmeE (A) 3R W F T (R) FE D

ATFIT (A) - e STaiEeRdT F1 FEicas A Hrae sfag 3 & o

% (R) JygEgfd 1 3eqfd d9@ H Fien IR & ®9 ° g0 2| S99 359 34 aiferfogi d giar

2 < A 1 qoar i 9ff 5 & Faedh & ofie 7 & ot 2

IHE® ®A1 & e 4, Fefoen @ 98 fawer ghw

(1)  (A) 3R (R) g4 @d) 2
2) (A IR ®)FH ToW 3
(3)  (A)®H g, 7=q (R) ToTd @
(4) (A) 7o 2, W= (R) W& 2
Options:
E1547543045 1
15475423048 2
1547542047 =
E1E47E4=Z0458. 4

Question Number : 138 Question Id : 61547511040 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : Organised crime is crime based on a co-operative effort like an organised

business.

Reasoning (R): It involves associlation of small groups of criminals for the execution of a

certain types of crimes by developing plans and maintaining political

connections.

Codes :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) (A) 18 true, but (R) 1s false

(4) (A) 1s falze, but (R) 1s true
Options:
61547542049 1
61547542050 2
51547542051 2
51547542052 4

Question Number : 138 Question 1d : 61547511040 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= 2 w2 fen o € - vF w A (A) 3R g F TS (R) FE TR

TR (A) - Hifed 3790y 98 3y 2 W fRdl gnfeq =R & 9@ gedil 9= W oAEid g
2

% (R) : HY SHRE & B 9951 % UgiEuIe Wie g S FieET 99 3R Ueifos §@99
TR HIA9T THI =& GG T 59187 Fid 2

STE® GH1 BT & TENE °, Heforga § wE fawes g

(1)  (A) 3 (R) 2HT w2
(2) (A IR (R)aH Tew@ @
(3 (A EE 2, 7 R) ToW 2

4)  (A)7em 2, g (R) @&l 2

Options:

61547542049,
51547543050,
61547543051,
61547543052,

L N

Question Number : 139 Question 1d : 61547511041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : The Radical Criminologists question the rightfullness of law.

Reasoning (R): Radical Criminologists reject the individualistic approach to crime

causations

Codes :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:
61547542053 1
E154754=054. 2
61547542055 2
61547542056 4

Question Number : 139 Question Id : 61547511041 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= g w9 fm 7w E - v F fiEeE (A) 3R w7 (R) e TR

TR (A) : 37 (swa) 7 e FAE % 98 e W 999 391 2 |

T+ (R) : 37 (USHT) ITRTH TR & FRH! % Jl0 AfRaG 989 Hi GRS F:44 2 |

ST® SHI F2E - AEs °§, Hafongd 1 @@l fawes g

(L (A) IR ®) A 78 &
(2) (AR ®)3H @ d
(3  (A) & 2, 7g (R) To 2

(4) (A)7Ted 3, Wg (R) 921 2



Options:

61547543053, 1
£1547542054 2
E1547543055 =2
61547542056, 4

Question Number : 140 Question Id : 61547511042 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Radical Criminology focusses on the legislation enacted by ruling class.
Reasoning (R): The functional paradigm is dominant in Radical Criminology.
Codes :

(1) Both (A) and (R) are true

(2) Both (A) and (R) are false

(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:

61547543057, 1
E1547543058. 2
61547542059, 5
61547543060, 4

Question Number : 140 Question Id : 61547511042 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1= @ o for o 2 - w stfumeT (A) 3 g HT T (R) R T2

AAMTHTT (A) 30 (ifeswa) st wme e 74 g Attt fFud = S0 w2

% (R) : 37 (ifewer) 3mRY e 4 FEES T09H F 9YE 2

IH Al H2ET & AeE °H, Feforaa 7 @6 fawen gio

(1) (AR @ FH 8¢
(2)  (A) IR R) FHI TEW 2
(3 (A @ 2 3k (R) Tom 2

(@)  (A)7eE 2 3R (R) FEI 2

Options:
61547542057 1

E1547543058. 2
61547543055, 3
51547543080, 4

Sub-Section Number: 2
Sub-Section 1d: 615475476
Question Shuffling Allowed : Yes

Question Id : 61547511043 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

In a truly vibrant democracy. while the government has every right to implement its
electoral promises, the right 13 circumsermbed by the actions of the institutions that form part
of the larger democratic eco system. The judiciary exists to ensure that the government does
not violate any rights that are enshrined in the Constitution and steps in when it sees that
happening. The bureaucracy and the administrative apparatus. while acting at the behest of
the government, work within the ambit of a prescribed code of professional conduct. The
oppositions role in keeping the government in check is self-explanatory. And the media 1s
meant to play its designated role as a noisy watch dog calling out the government when it 1s

deemed necessary.



Sub questions

Question Number : 141 Question Id : 61547511044 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who has the advantage to implement the electoral promises?

(1) The opposition parties
(2) The Judiciary

(3) The Media

(4) The Government

Options:

61547543061, 1
61547543062, 2
615475420683 2
E15475430684, 4

Question Number : 142 Question Id : 61547511045 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
This paragraph deals with one of the following, 1n a vibrant democracy :

(1) Role of Non governmental organization

(2) Role of media

(3) Role of various Constitutional institutions

(4) Role of Defence Research and Development Organization
Options:

61547543085, 1
615475430686, 2
E1547543067. 3
E1547543065. 4

Question Number : 143 Question Id : 61547511046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who perform within the code of professional conduct?

(1) The Government (2) The Medaa
(3) The Executive (4) The Judiciary
Options:

61547542069, 1
E1547542070. 2
E1547543071. 3
B1547543072. 4

Question Number : 144 Question 1d : 61547511047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which among the following legislative institutions put the government in check?

(1) The Media (2) The Opposition Parties
(3) The Executive (4) The Judiciary
Options:

E1547543073. 1
61547543074, 2
E1547543075. 3
B1547543076. 4

Question Number : 145 Question Id : 61547511048 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who performs the role of noisy watch dog?

(1) The Media (2) The Opposition Parties
(3) The Executive (4) The Judiciary
Options:

615475430771
61547543078, 2
61547543073, 3
E1547542080. 4

Question Id : 61547511043 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehiension

Tratatas T wt eyt =@ ey 3tk 38% 915 18 70 9 % IW dife : (91-95)

UF G 9 @ihdd H, Faih TER H J9H FAE IEE hI FEGd wE R W AGER 2, T
FRIFR-Te AiwdiEsh A6 & GEIH1 & HEl gl TREd 2| =Edtas &1 &8 98 gHiTaq 1 2
& wpr dfewm o sfefie el &1 sgag 9 = 3k tw @9 @ 9% @ge ot 2| At ik
TIEF HIET WER F o3l W FE FH] 2 AT a9 FaEEiEs sy f G 9  F =R F
i &1 wd 3| forie e 7 R W g e A YiEw @ w1 2| o difsar @ aran g 2
7 FETEHA T84 T EHR & JTE=H1 F4d 30, TF Fae Talgn &1 a7+ Hiee gfte 1 fak &

Sub questions

Question Number : 141 Question Id : 61547511044 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT TS F FETET T B W R 27

1)  fate z=

(2)  —=EATRIHRT

(3)  difem

4)  THE
Options:

E1547543061. 1
E1547543062. 2
61547543063, 3
61547543064, 4

Question Number : 142 Question 1d : 61547511045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

UF Saq diead - dad 0, T8 T HEfaigd § fHE o @ gafea 37

(1) T 9K GTeA1 % g (2) difean Fi gt
(3) fatua st svaml 91 g (4) & FgEYR 9 fawE T F g
Options:

E1547543065. 1
61547543066, 2
B1547543067. 3
61547543068, 4

Question Number : 143 Question Id : 61547511046 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TS 3= §fea] & SRR & it @ S FE FaT 27

(1) ®&FR (2) Hifean
(3)  FHEHTCTR @) —FEeET
Options:

E15475430649. 1
61547543070 2
61547543071, 3
61547543072, 4

Question Number : 144 Question Id : 61547511047 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F=fefas 0 8 =5 @1 four 92m W 7 gy e a7

() it (2) ot ==
(3)  FHEITCTR (1) ~FEEE
Options:

51547543073 1
61547543074, 2
61547543075, 3
E1547543076. 4

Question Number : 145 Question Id : 61547511048 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UF s TEGR i YHRT B 3G FaT1 27

(1)  difsn ) frdt <=
(3)  wETcE @) I

Options:

61547543077, 1
61547542078 2
61547542079, 5
61547542080 4

Sub-Section Number: 3
Sub-Section | d: 615475477
Question Shuffling Allowed : Yes

Question Id : 61547511049 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehension

The district Police has planned to setup a cyber forensic laboratory in the city and develop 1t
as a ‘centre of excellence’ in collaboration with a university. Police said the laboratory would
not only crack complex cvber fraud cases. but also act as a centre to impart training to
policemen. It would take help of the University students in decoding cases and facilitate
them for their contribution. Around four hundred cases are being recieved at the cyber crime
cell every month. The cell will be placed in a spacious building with faster internet
connection and several new software at their disposal. Cases of Cyber-fraud. ATM cloning
and 1dentity theft for financial scams have gone up i1n recent times. As many as 137 people
have become victims of such frauds from January to April in 2019. Only 251 FIRs in cases
related to financial crimes 1n 2018.

Sub questions

Question Number : 146 Question 1d : 61547511050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘Identity theft’ 1s a form of

(1) Cyber Forensics

(2) Cyber Financial scam
(3) Cyber Software
(4) Cyber Hardware
Options:
615475420811
1547542082 2

61547543083, 3
61547543054, 4

Question Number : 147 Question 1d : 61547511051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following 18 planned to be developed as a ‘Centre of Excellence’?

(1) Forensic Laboratory (2) Forensic Medicine Laboratory
(3) Police Laboratory (4) Cyber Forensic Laboratory
Options:

51547543085, 1
61547543086, 2
61547543087, 3
E1547543085. 4

Question Number : 148 Question Id : 61547511052 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many cases are being received at the cyber crime cell every month?

(1) 2b1 cases (2) 400 cases
(3) 137 cases (4) 2018 cases
Options:

E1547543089. 1
E15475430380. 2
51547543091, 3
51547543082, 4

Question Number : 149 Question 1d : 61547511053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many FIRs have been registered relating to financial crimes 1n 20187

(1) 251 FIRs (2) 400 FIRs
(3) 2019 FIRs (4) 137 FIRs

Options:



E1547543093.
515475430594,
51547543085,
61547543036,

[ N N

Question Number : 150 Question Id : 61547511054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Centre of Excellance can be achieved by linking with a

(1) Diastrict Police (2) Forensic Laboratory
(3) Another Laboratory (4) University
Options:

615475420397, 1
E15475430385. 2
E1547543095. 3
51547543100, 4

Question Id : 61547511049 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

Fraferfaa Teme =1 wEEHT @ Tleu 3T 3§ 918 99 U NEAl % St A (96-100)

T — 2

foen gfer 3 et § wseR wies yameen w2 v v v favafaoen & weam @ 59 (Iewr 9E)
% w7 § fowfim =0 1 givmr 98 21 3fow 3 w1 & sgimenen Sew 7R e grgarst & gEet S
& goset 9few gfcraret wt fsem gem F3 & g % w9 4 ot +9 S 97 gwel F geage 3
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Question Number : 146 Question Id : 61547511050 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547543081, 1
61547542082 2
E1547542083 =2
61547542084, 4

Question Number : 147 Question Id : 61547511051 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547543085, 1
61547543086, 2
61547543087, 3
615475420858, 4

Question Number : 148 Question Id : 61547511052 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547543089, 1
615475423080, 2
61547543031, 3
61547543032, 4

Question Number : 149 Question Id : 61547511053 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547543083, 1
61547543084, 2
61547543035, 3
61547543036, 4



Question Number : 150 Question Id : 61547511054 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547543087, 1
61547543038, 2
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